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 निरे्दश (1 – 5) : निम्‍िलिखित‍प्रश्‍िों‍के‍उत्‍तर‍
देिे‍के‍लिए‍दी‍गई‍जािकारी‍को‍ध्‍यािपूर्वक‍
पढ़ें। 
छह‍ व्यक्‍‍त‍दक्षिण‍की‍ओर‍मुि‍करके‍एक‍
पंक्‍‍त‍ म़ें‍ बैठे‍ हैं।‍ उिम़ें‍ से‍ प्रत्येक‍ व्‍यक्‍‍त‍
वर्लिन्‍ि‍ िाषाएं‍ अर्ावत‍ हहदंी, स्पैनिश, फ्ऱें च, 
अंग्रेजी, चीिी‍ और‍ अरबी‍ बोिता‍ है, िेककि‍
जरूरी‍िहीं‍ कक‍इसी‍क्रम‍म़ें‍हो। हहदंी‍बोििे‍
र्ािा‍व्यक्‍‍त‍फ्ऱें च‍बोििे‍र्ाि‍ेव्यक्‍‍त‍के‍दाए‍ं
दसूरे‍स्र्ाि‍पर‍बैठा‍ है‍िेककि‍अंत‍म़ें‍िहीं। 
स्पैनिश‍बोििे‍र्ािा‍ व्‍यक्‍‍त‍अंनतम‍छोर‍पर‍
बैठा‍ है, िेककि‍ हहदंी‍ बोििे‍ र्ािे‍ व्‍यक्‍‍त‍ के‍
सक्न्िकट‍ िहीं। अंग्रेजी‍ बोििे‍ र्ािा‍ व्यक्‍‍त‍
हहदंी‍बोििे‍र्ािे‍व्यक्‍‍त‍के‍सक्न्िकट‍बैठा‍है, 
िेककि‍फ्ऱें च‍बोििे‍र्ािे‍ व्‍यक्‍‍त‍के‍सक्न्िकट‍
िहीं। चीिी‍बोििे‍र्ािा‍व्‍यक्‍‍त‍अरबी‍बोििे‍
र्ािे‍व्‍यक्‍‍त‍के‍बाएं‍तीसरे‍स्‍र्ाि‍पर‍है, जो‍
एक‍छोर‍पर‍बैठा‍है। 

1.  निम्‍िलिखित‍म़ें‍ र्‍‍ताओं‍का‍कौि‍सा‍ युग्‍म‍
अंनतम‍छोर‍पर‍बैठा‍है? 

 A. अंग्रेजी-‍स्‍पैनिश 
B. स्‍पैनिश-‍चीिी 
C. अरबी-‍स्‍पैनिश 
D. स्‍पैनिश-‍फ्ऱें च 
E. उपरो‍‍त‍म़ें‍से‍कोई‍िहीं 

2. चीिी‍ बोििे‍ र्ािे‍ व्‍यक्‍‍त‍ के‍ संदिव‍ म़ें‍ हहदंी‍
बोििे‍र्ािे‍व्‍यक्‍‍त‍का‍स्‍र्ाि‍‍‍या‍है? 

 A. ठीक‍बाएं B. ठीक‍दाएं 
C. बाएं‍से‍तीसरा D. दाएं‍से‍दसूरा 
E. उपरो‍‍त‍म़ें‍से‍कोई‍िहीं 

3. यहद‍सिी‍र्‍‍ता‍अंग्रेजी‍शब्‍दाकोश‍के‍अिुसार‍
िाषाओं‍के‍दाए‍ंस‍ेबाए‍ंक्रम‍म़ें‍बैठ़ें , तो‍ककतिे‍
र्‍‍ताओं‍के‍स्‍र्ाि‍अपररर्नतवत‍रह़ेंगे? 

 A. 1 B. 2 
C. 3 D. 4 
E. कोई‍िहीं 

4. यहद‍र्‍‍ताओं‍िे‍निम्िलिखित‍क्रम‍म़ें‍सीटों‍को‍
बदि‍लिया‍ है‍जैसे:‍अरबी‍ िे‍चीिी‍ के‍सार्, 

अंग्रेजी‍ िे‍फ्ऱें च‍ के‍सार्, हहदंी‍ िे‍स्पैनिश‍ के‍
सार्‍और‍अंत‍म़ें‍स्पैनिश‍िे‍अंग्रेजी‍के‍सार्, 
तो‍ निम्‍िलिखित‍ म़ें‍ से‍ कौि‍ सा‍ र्‍‍ता‍और‍
सीट‍के‍स्‍र्ाि‍का‍सही‍संयोजि‍है? 

 A. चीिी‍ र्‍‍ता, अंग्रेजी‍ र्‍‍ता‍ के‍ दाएं‍ दसूरे‍
स्‍र्ाि‍ पर‍ है। 
B. अरबी‍र्‍‍ता, अंग्रेजी‍र्‍‍ता‍के‍ठीक‍बाएं‍है। 
C. हहदंी‍ र्‍‍ता‍ सबसे‍ बाईं‍ ओर‍ है। 
D. अंग्रेजी‍र्‍‍ता‍दाएं‍छोर‍स‍ेतीसरे‍स्‍र्ाि‍पर‍
है। 
E. उपरो‍‍त‍सिी 

5. निम्‍िलिखित‍ युग्‍म‍ म़ें‍ से‍ वर्षम‍ को‍ ज्ञात‍
कीक्जए? 

 A. हहदंी-‍चीिी B. अंग्रेजी-‍अरबी 
C. फ्ऱें च-‍स्‍पैनिश D. चीिी-‍फ्ऱें च 
E. अंग्रेजी-‍चीिी 

 
 निरे्दश (6 – 8) : निम्‍िलिखित‍जािकारी‍का‍

ध्‍यािपूर्वक‍अध्‍ययि‍कऱें‍और‍हदए‍गए‍प्रश्‍िों‍
के‍उत्‍तर‍द़ें। 

 पांच‍छात्र – िार्ण्‍या, मोनिका, निखििा, ओंकार‍
और‍पार्िी‍म़ें‍से‍प्रत्‍येक‍की‍िंबाइयां‍ लिन्‍ि‍
हैं।‍िार्ण्‍या‍केर्ि‍मोनिका‍से‍छोटी‍है।‍ओंकार, 
निखििा‍से‍छोटा‍ है।‍ओंकार, पार्िी‍स‍ेिंबी‍
है।‍सबसे‍िंबे‍छात्र‍की‍िंबाई‍20‍फुट‍है।‍दसूरे‍
सबसे‍छोटे‍छात्र‍की‍िंबाई‍11‍फुट‍है। 

6.  पार्िी‍की‍िंबाई‍ककतिी‍होगी? 
 A. 13 फुट B. 15 फुट 

C. 9 फुट D. 12 फुट 
E. 14 फुट 

7. तीसरे‍सबसे‍िंबे‍छात्र‍की‍िबंाई‍ककतिी‍है? 
 A. 13 फुट B. 10 फुट 

C. 21 फुट D. 9 फुट 
E. 11 फुट 

8. दसूरा‍सबसे‍छोटा‍छात्र‍कौि‍सा‍है? 
 A. मोनिका B. निखििा 

C. ओमकार D. िार्ण्‍या 
E. निर्ावररत‍िहीं‍कर‍सकत े

www.byjusexamprep.com

http://www.gradeup.com/
https://xu75j.app.goo.gl/iEhW1


 
 

 
3 
 

 
 निरे्दश: िीचे‍ हदए‍ गए‍ प्रत्येक‍ प्रश्ि‍ म़ें‍ तीि‍

कर्िों‍के‍बाद‍दो‍निष्‍कषव I और II हदए‍गए‍
हैं। आपको‍हदए‍गए‍कर्िों‍को‍सही‍माििा‍है, 
िि‍े ही‍ र्े‍ सामान्यतः‍ ज्ञात‍ तथ्यों‍ से‍ लिन्ि‍
प्रतीत‍होत‍ेहों। सिी‍निष्कषों‍को‍पढ़ें‍और‍कफर‍
निणवय‍कऱें‍कक‍हदए‍गए‍निष्कषों‍म़ें‍से‍कौि‍
सा‍सामान्‍यत:‍ज्ञात‍तथ्‍यों‍की‍अिदेिी‍करते‍
हुए‍हदए‍गए‍कर्िों‍का‍ताककव क‍रूप‍से‍अिुसरण‍
करता‍है। 

9. कथि: 
केर्ि‍कुछ‍टॉप, ऐग‍हैं 
केर्ि‍कुछ‍ऐग, वपि‍हैं 
सिी‍वपि, इंक‍हैं 
निष् कर्ष: 
I. सिी‍टॉप‍के‍ऐग‍होिे‍की‍संिार्िा‍है 
II. कोई‍इंक, टॉप‍िहीं‍है 

 A. यहद‍केर्ि‍निष्‍कषव I अिुसरण‍करता‍ है। 
B. यहद‍केर्ि‍निष्‍कषव II अिुसरण‍करता‍है। 
C. यहद‍ या‍ तो‍ निष्‍कषव I या‍ निष्‍कषव II 
अिुसरण‍ करता‍ है। 
D. यहद‍दोिों‍निष्‍कषव I और II अिुसरण‍करते‍
हैं। 
E. यहद‍ ि‍ तो‍ निष्‍कषव I ि‍ ही‍ निष्‍कषव II 
अिुसरण‍करता‍है। 

 
 निरे्दश: िीचे‍ हदए‍ गए‍ प्रत्येक‍ प्रश्ि‍ म़ें‍ तीि‍

कर्िों‍के‍बाद‍दो‍निष्‍कषव I और II हदए‍गए‍
हैं। आपको‍हदए‍गए‍कर्िों‍को‍सही‍माििा‍है, 
िि‍े ही‍ र्े‍ सामान्यतः‍ ज्ञात‍ तथ्यों‍ से‍ लिन्ि‍
प्रतीत‍होत‍ेहों। सिी‍निष्कषों‍को‍पढ़ें‍और‍कफर‍
निणवय‍कऱें‍कक‍हदए‍गए‍निष्कषों‍म़ें‍से‍कौि‍
सा‍सामान्‍यत:‍ज्ञात‍तथ्‍यों‍की‍अिदेिी‍करते‍
हुए‍हदए‍गए‍कर्िों‍का‍ताककव क‍रूप‍से‍अिुसरण‍
करता‍है। 

10. कथि: 
केर्ि‍बॉि, कैट‍हैं। 
केर्ि‍कुछ‍बॉि, डॉग‍हैं। 

कोई‍डॉग, पेि‍िहीं‍है। 
निष् कर्ष: 
I. सिी‍डॉग, बॉि‍हो‍सकत‍ेहैं। 
II. कुछ‍बॉि, पेि‍िहीं‍हैं। 

 A. यहद‍केर्ि‍निष्‍कषव I अिुसरण‍करता‍ है। 
B. यहद‍केर्ि‍निष्‍कषव II अिुसरण‍करता‍है। 
C. यहद‍ या‍ तो‍ निष्‍कषव I या‍ निष्‍कषव II 
अिुसरण‍ करता‍ है। 
D. यहद‍दोिों‍निष्‍कषव I और II अिुसरण‍करत‍े
हैं। 
E. यहद‍ ि‍ तो‍ निष्‍कषव I ि‍ ही‍ निष्‍कषव II 
अिुसरण‍करता‍है। 

 
 निरे्दश: िीचे‍ हदए‍ गए‍ प्रत्येक‍ प्रश्ि‍ म़ें‍ तीि‍

कर्िों‍के‍बाद‍दो‍निष्‍कषव I और II हदए‍गए‍
हैं। आपको‍हदए‍गए‍कर्िों‍को‍सही‍माििा‍है, 
ििे‍ ही‍ र्े‍ सामान्यतः‍ ज्ञात‍ तथ्यों‍ से‍ लिन्ि‍
प्रतीत‍होते‍हों। सिी‍निष्कषों‍को‍पढ़ें‍और‍कफर‍
निणवय‍कऱें‍कक‍हदए‍गए‍निष्कषों‍म़ें‍से‍कौि‍
सा‍सामान्‍यत:‍ज्ञात‍तथ्‍यों‍की‍अिदेिी‍करत‍े
हुए‍हदए‍गए‍कर्िों‍का‍ताककव क‍रूप‍से‍अिुसरण‍
करता‍है। 

11. कथि: 
केर्ि‍बैग, कार‍हैं। 
कोई‍कार, र्ैि‍िहीं‍है। 
केर्ि‍कुछ‍र्ैि, गि‍हैं। 
निष् कर्ष: 
I. कोई‍बैग, र्ैि‍िहीं‍है। 
II. सिी‍र्ैि, गि‍हैं। 

 A. यहद‍केर्ि‍निष्‍कषव I अिुसरण‍करता‍ है। 
B. यहद‍केर्ि‍निष्‍कषव II अिुसरण‍करता‍है। 
C. यहद‍ या‍ तो‍ निष्‍कषव I या‍ निष्‍कषव II 
अिुसरण‍ करता‍ है। 
D. यहद‍दोिों‍निष्‍कषव I और II अिुसरण‍करत‍े
हैं। 
E. यहद‍ ि‍ तो‍ निष्‍कषव I ि‍ ही‍ निष्‍कषव II 
अिुसरण‍करता‍है। 
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 निरे्दश: िीचे‍ हदए‍ गए‍ प्रत्येक‍ प्रश्ि‍ म़ें‍ तीि‍
कर्िों‍के‍बाद‍दो‍निष्‍कषव I और II हदए‍गए‍
हैं। आपको‍हदए‍गए‍कर्िों‍को‍सही‍माििा‍है, 
िि‍े ही‍ र्े‍ सामान्यतः‍ ज्ञात‍ तथ्यों‍ से‍ लिन्ि‍
प्रतीत‍होत‍ेहों। सिी‍निष्कषों‍को‍पढ़ें‍और‍कफर‍
निणवय‍कऱें‍कक‍हदए‍गए‍निष्कषों‍म़ें‍से‍कौि‍
सा‍सामान्‍यत:‍ज्ञात‍तथ्‍यों‍की‍अिदेिी‍करते‍
हुए‍हदए‍गए‍कर्िों‍का‍ताककव क‍रूप‍से‍अिुसरण‍
करता‍है। 

12. कथि: 
केर्ि‍मुर्गवयााँ, बकररयां‍हैं। 
कुछ‍बकररयां, चमगादड़‍िहीं‍हैं। 
केर्ि‍कुछ‍चमगादड़, चूहे‍हैं। 
निष् कर्ष: 
I. कुछ‍मुर्गवयााँ, चमगादड़‍हो‍सकती‍हैं। 
II. 100% चमगादड़ों‍के‍चूहे‍होिे‍की‍संिार्िा‍
है। 

 A. यहद‍केर्ि‍निष्‍कषव I अिुसरण‍करता‍ है। 
B. यहद‍केर्ि‍निष्‍कषव II अिुसरण‍करता‍है। 
C. यहद‍ या‍ तो‍ निष्‍कषव I या‍ निष्‍कषव II 
अिुसरण‍ करता‍ है। 
D. यहद‍दोिों‍निष्‍कषव I और II अिुसरण‍करते‍
हैं। 
E. यहद‍ ि‍ तो‍ निष्‍कषव I ि‍ ही‍ निष्‍कषव II 
अिुसरण‍करता‍है। 

 
 निरे्दश: िीचे‍ हदए‍ गए‍ प्रत्येक‍ प्रश्ि‍ म़ें‍ तीि‍

कर्िों‍के‍बाद‍दो‍निष्‍कषव I और II हदए‍गए‍
हैं। आपको‍हदए‍गए‍कर्िों‍को‍सही‍माििा‍है, 
िि‍े ही‍ र्े‍ सामान्यतः‍ ज्ञात‍ तथ्यों‍ से‍ लिन्ि‍
प्रतीत‍होत‍ेहों। सिी‍निष्कषों‍को‍पढ़ें‍और‍कफर‍
निणवय‍कऱें‍कक‍हदए‍गए‍निष्कषों‍म़ें‍से‍कौि‍
सा‍सामान्‍यत:‍ज्ञात‍तथ्‍यों‍की‍अिदेिी‍करते‍
हुए‍हदए‍गए‍कर्िों‍का‍ताककव क‍रूप‍से‍अिुसरण‍
करता‍है। 

13. कथि: 
केर्ि‍जार, मग‍हैं। 
केर्ि‍जग, जार‍हैं। 

केर्ि‍कुछ‍जग, बैि‍हैं। 
निष् कर्ष: 
I. सिी‍मग, जग‍हैं। 
II. कुछ‍जार, बैि‍हैं। 

 A. यहद‍केर्ि‍निष्‍कषव I अिुसरण‍करता‍ है। 
B. यहद‍केर्ि‍निष्‍कषव II अिुसरण‍करता‍है। 
C. यहद‍ या‍ तो‍ निष्‍कषव I या‍ निष्‍कषव II 
अिुसरण‍ करता‍ है। 
D. यहद‍दोिों‍निष्‍कषव I और II अिुसरण‍करत‍े
हैं। 
E. यहद‍ ि‍ तो‍ निष्‍कषव I ि‍ ही‍ निष्‍कषव II 
अिुसरण‍करता‍है। 

 
 निरे्दश (14 – 18) : निम्िलिखित जािकारी का 

ध्यािपूर्वक अध्ययि कऱें और तद्िुसार प्रश्िों 
के उत्तर द़ें। 

 सात व्‍यक्‍त‍अर्ावत ्A, B, C, D, E, F और 
G क़ें द्र की ओर मुि‍करके एक र्तृ्‍ताकार‍मेज 
के चारों ओर बैठे हैं। A, C तर्ा B दोिों का 
निकटतम पड़ोसी है। D, E और G के बीच 
बैठा है। G, E के बाएं से दसूरे स्र्ाि पर बैठा 
है। B, D के दाएं स ेतीसरे स्र्ाि पर बैठा है। 
E और A के बीच दो व्यक्‍त बैठे हैं। 

14.  निम्ि म़ें स ेकौि E की दाईं ओर स‍े दसूरे‍
स्र्ाि‍पर‍बैठा है? 

 A. C B. G 
C. A D. B 
E. इिम़ें‍से‍कोई‍िहीं 

15. निम्ि म़ें स ेकौि G के निकटतम पड़ोसी हैं? 
 A. E, D B. A, B 

C. C, A D. D, C 
E. इिम़ें‍से‍कोई‍िहीं 

16. निम्ि म़ें स ेसही कर्ि ज्ञात कीक्जए। 
 A. F, D के दाए ंसे‍तीसरे‍स्र्ाि‍पर‍बैठता है 

B. A, G की बाईं ओर से‍ दसूरे‍ स्र्ाि‍ पर 
बैठता है 

 C. F के दाए ंस,े F और C के बीच तीि 
व्यक्‍त बैठे हैं 
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D. C और B निकटतम पड़ोसी हैं 
E. कोई िी सही िहीं है 

17. D के बाए ंस ेD और B के बीच ककतिे व्यक्‍त 
बैठे हैं? 

 A. एक B. चार 
C. तीि D. दो 
E. कोई िहीं 

18. B के‍संदिव‍म़ें C की क्स्र्नत ‍या है? 
 A. दाईं ओर से तीसरा 

B. बाईं ओर स ेतीसरा 
C. दाईं ओर स‍ेदसूरा 
D. बाईं ओर से‍चौर्ा 
E. इिम़ें‍से‍कोई‍िहीं 

19. बबदं‍ुA बबदं‍ुX के‍उत्तर‍म़ें‍है‍जोकक‍बबदं‍ुB के‍
पूर्व‍म़ें‍है।‍यहद‍बबदं‍ुC बबदं‍ुN के‍पूर्व‍म़ें‍ है‍
जोकक‍बबदं‍ुX के‍दक्षिण‍म़ें‍है, तो‍बबदं‍ुA की‍
ककस‍हदशा‍म़ें‍बबदं‍ुC है? 

 A. उत्तर-पक्श्चम 
B. दक्षिण-पूर्व 
C. उत्तर-पूर्व 
D. निर्ावररत‍िहीं‍ककया‍जा‍सकता 
E. इिम़ें‍से‍कोई‍िहीं 

20. एक‍निक्श्चत‍कूट‍िाषा‍म़ें, WAINSCOT को 
XUTPOJDB के‍रूप‍म़ें‍तर्ा TABLEAU को 
VUMFCBB के‍रूप‍म़ें‍लििा‍जाता‍है।‍तो‍इस‍
कूट‍िाषा‍म़ें‍ ककसे ZSOJEDBB के‍ रूप‍म़ें 
लििा‍जाएगा?  

 A. RADIANCY B. RADIANT 
C. RADIANCE D. RADIANCYS 
E. इिम़ें‍से‍कोई‍िहीं 

21. B की‍बहू D, A की‍लसस्‍टर-इि-िॉ‍है, जो C 
की‍बहि‍है। A, B से‍ककस‍प्रकार‍संबंर्र्त‍है? 

 A. बहि B. पुत्री 
C. माता D. डेटा‍अपयावप्‍त 
E. इिम़ें‍से‍कोई‍िहीं 

22. यहद 3 * 2 * 1 = 273 एर्ं 2 * 5 * 4 = 
89 है‍तो 4 * 7 * 9 = ? का‍माि‍ज्ञात‍कऱें। 

 A. 1616 B. 6463 
C. 1663 D. 6416 
E. इिम़ें‍से‍कोई‍िहीं 

 
 निरे्दश (23 – 27) : निम्‍िलिखित‍जािकारी‍का‍

ध्‍यािपूर्वक‍अध्‍ययि‍कऱें‍तर्ा‍तद्िुसार‍प्रश्‍िों‍
के‍उत्‍तर‍द़ें। 

 सात‍ बॉ‍‍स‍ एक-दसूरे‍ के‍ ऊपर‍ रिे‍ गए‍ हैं। 
बॉ‍स G को M के‍ऊपर‍रिा‍गया‍है।‍बॉ‍‍स 
D को B के‍िीचे‍रिा‍गया‍है, िेककि‍बॉ‍‍स 
M के‍ऊपर रिा‍गया‍ है।‍बॉ‍‍स B शीषव‍पर‍
िहीं‍है। कोई‍बॉ‍स Z के‍िीचे‍िहीं‍रिा‍गया‍
है, क्जसे X के‍चार‍स्र्ाि‍िीचे‍रिा‍गया‍है। 
X और F के‍बीच‍दो‍बॉ‍स‍रि‍ेगए‍हैं। 

23.  D के‍िीचे‍ककतिे‍बॉ‍स‍रि‍ेगए‍हैं? 
 A. दो B. चार 

C. पांच D. तीि 
E. इिम़ें‍से‍कोई‍िहीं 

24. G और F के‍बीच‍ककतिे‍बॉ‍स‍रिे‍गए‍हैं? 
 A. चार B. पांच 

C. तीि D. दो 
E. इिम़ें‍से‍कोई‍िहीं 

25. निम्ि‍म़ें‍से‍ककस‍बॉ‍स‍युग्‍म‍को M के‍पास‍
रिा‍गया‍है? 

 A. XZ B. FX 
C. DZ D. FD 
E. इिम़ें‍से‍कोई‍िहीं 

26. निम्‍िलिखित‍म़ें‍से‍वर्षम‍की‍पहचाि‍कऱें। 
 A. XG B. DF 

C. MZ D. XF 
E. BD 

27. निम्‍ि‍म़ें‍स‍ेकौि‍सा‍बॉ‍‍स M के‍िीचे‍रिा‍
गया‍है? 

 A. B B. F 
C. X D. D 
E. इिम़ें‍से‍कोई‍िहीं 

28. दी‍गई‍अलिव्यक्‍त‍म़ें‍प्रश्ि‍र्चन्‍ह‍(?) के‍स्र्ाि‍
पर‍ ‍या‍आएगा‍ क्जससे‍ अलिव्यक्‍त M <C 
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निक्श्चत‍ रूप‍ स‍े सही‍ हो? 
C > L ≥ O = U ? E; M < D < E 

 A. > B. = 
C. ≤ D. ≥ 
E. सिी A, B और D 

 निरे्दश: निम्‍िलिखित‍प्रत्‍येक‍प्रश्‍ि‍म़ें, हदए‍गए‍
कर्ि‍को‍सत्‍य‍मािते‍हुए, ज्ञात‍कऱें‍िीचे‍हदया‍
कौि‍सा‍निष्‍कषव‍निक्श्‍चत‍रूप‍स‍ेसत्‍य‍है।  

29. कथि: 
A ≤ B, B > C, C ≤ A, D < A, A = E 
निष् कर्ष: 
a) D > B 
b) E> B 

 A. केर्ि‍निष्‍कषव‍A सत्‍य‍है 
B. केर्ि‍निष्‍कषव‍B सत्‍य‍है 
C. या‍तो‍निष्‍कषव‍A या‍B सत्‍य‍है 
D. िा‍तो‍निष्‍कषव‍A िा‍B सत्‍य‍है 
E. निष्‍कषव‍A और‍B दोिों‍सत्‍य‍हैं 

 
 निरे्दश: निम्‍िलिखित‍प्रत्‍येक‍प्रश्‍ि‍म़ें, हदए‍गए‍

कर्ि‍को‍सत्‍य‍मािते‍हुए, ज्ञात‍कऱें‍िीचे‍हदया‍
कौि‍सा‍निष्‍कषव‍निक्श्‍चत‍रूप‍स‍ेसत्‍य‍है।  

30. कथि: 
1 ≥ 2, 3 ≤ 2, 6 = 1, 3 = 4, 4 > 5 
निष् कर्ष: 
a) 2 ≥ 4 
b) 5 < 2 

 A. केर्ि‍निष्‍कषव‍A सत्‍य‍है 
B. केर्ि‍निष्‍कषव‍B सत्‍य‍है 
C. या‍तो‍निष्‍कषव‍A या‍B सत्‍य‍है 
D. िा‍तो‍निष्‍कषव‍A िा‍B सत्‍य‍है 
E. निष्‍कषव‍A और‍B दोिों‍सत्‍य‍हैं 

 
 निरे्दश (31 – 35) : निम्‍िलिखित‍जािकारी‍का‍

ध्‍यािपूर्वक‍ अध्‍ययि‍ कऱें‍ और‍ निम्‍िलिखित‍
प्रश्‍िों‍के‍उत्‍तर‍द़ें। 

 आठ‍व्‍यक्‍त‍– I, J, K, L, M, N, O और P 
के‍पास 8 वर्लिन्‍ि‍ डडर्ग्रयां‍अर्ावत‍बी.बी.ए., 

एम.बी.ए., एम.एस.सी., बी.एस.सी., एम.टेक, 
बी.टेक, एि.एि.बी., और‍एम.कॉम‍हैं।‍र्े‍सिी‍
आठ‍ वर्लिन्‍ि‍ रंग‍अर्ावत‍िाि, िीिा, पीिा, 
िूरा, पीच, गुिाबी, हरा‍और‍िारंगी‍रंग‍पसदं‍
करत‍ेहैं‍िेककि‍जरूरी‍िहीं‍है‍कक‍समाि‍क्रम‍
म‍ेहों। K ि‍तो‍िूरा‍ि‍ ही‍िीिा‍ रंग‍पसंद‍
करता‍है।‍क्जस‍व्‍यक्‍त‍के‍पास‍बी.टेक‍की‍डडग्री‍
है, र्ह‍िीिा‍ रंग‍पसंद‍करता‍ है। L के‍पास‍
एम.कॉम‍की‍डडग्री‍है‍िेककि‍र्ह‍िाि‍रंग‍िही‍ं
पसंद‍करता‍है। P के‍पास‍बी.एस.सी.‍की‍डडग्री‍
िहीं‍है‍िेककि‍र्ह‍हरा‍रंग‍पसंद‍करता‍है।‍या‍
तो I या N के‍पास‍एि.एि.बी.‍की‍डडग्री‍है। I 
और J ि‍तो‍िूरा‍ि‍ही‍िीिा‍रंग‍पसंद‍करत‍े
हैं। M के‍पास‍बी.टेक‍की‍ डडग्री‍िहीं‍ है। N, 
िारंगी‍ रंग‍ पसंद‍करता‍ है।‍ क्जस‍ व्‍यक्‍त‍ के‍
पास‍एम.बी.ए.‍की‍डडग्री‍है‍र्ह‍पीिा‍रंग‍पसंद‍
करता‍ है।‍ क्जस‍व्‍यक्‍त‍के‍पास‍बी.बी.ए.‍की‍
डडग्री‍है‍र्ह, िूरा‍रंग‍पसंद‍करता‍है।‍ि‍तो K 
ि‍ही L पीच‍रंग‍पसंद‍करत‍ेहैं। P के‍पास‍
एम.टेक‍की‍ डडग्री‍िहीं‍ है। J के‍ पास‍ि‍तो‍
बी.एस.सी.‍की‍डडग्री‍है‍ि‍ही‍र्ह‍पीिा‍रंग‍पसंद‍
करता‍है। K, पीिा‍रंग‍िहीं‍पसंद‍करता‍है। 

31. K, निम्‍िलिखित‍म़ें‍से‍कौि‍सा‍रंग‍पसंद‍करता‍
है? 

 A. िाि B. पीिा 
C. पीच D. गुिाबी 
E. निर्ावररत‍िहीं‍कर‍सकत े

32. I के‍पास‍निम्‍िलिखित‍म़ें‍से‍कौि‍सी‍ डडग्री‍
है? 

 A. एम.टेक B. बी.एस.सी. 
C. एम.बी.ए. D. एि.एि.बी. 
E. एम.एस.सी. 

33. निम्‍िलिखित‍म़ें‍से‍कौि‍पीच‍रंग‍पसंद‍करता‍
है? 

 A. K 
B. क्जस‍व्‍यक्‍त‍के‍पास‍एम.टेक‍की‍डडग्री‍है 
C. M 
D. क्जस‍व्‍यक्‍त‍के‍पास‍एि.एि.बी.‍की‍
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डडग्री‍है 
E. उपयुव‍‍त‍म़ें‍से‍कोई‍िहीं 

34. निम्‍िलिखित‍म़ें‍ से‍ ककसके‍ पास‍ एम.एस.सी.‍
की‍डडग्री‍है? 

 A. K 
B. जो‍व्‍यक्‍त‍गुिाबी‍रंग‍पसंद‍करता‍है 
C. M 
D. जो‍व्‍यक्‍त‍िारंगी‍रंग‍पसंद‍करता‍है 
E. P 

35. हदए‍गए‍व्‍यर्स्‍र्ापि‍के‍संदिव‍म़ें‍निम्‍िलिखित‍
म़ें‍से‍कौि‍सा‍कर्ि‍सत्‍य‍है? 

 A. J के‍पास‍बी.एस.सी.‍की‍डडग्री‍है 
B. K के‍पास‍एम.टेक‍की‍डडग्री‍है 
C. L, गुिाबी‍रंग‍िहीं‍पसंद‍करता‍है 
D. M के‍पास‍बी.बी.ए.‍की‍डडग्री‍है 
E. O, गुिाबी‍रंग‍पसंद‍करता‍है। 

 
 निरे्दश: निम्ि‍प्रश्ि‍म़ें‍प्रश्ि‍र्चन्ह‍(?) के‍स्र्ाि‍

पर‍‍या‍माि‍आएगा? 
36.  74163-4441-?-20+520=69794 
 A. 431 B. 428 

C. 454 D. 394 
E. None of these 

 
 निरे्दश:‍निम्ि‍प्रश्ि‍म़ें‍प्रश्ि‍र्चन्ह‍(?) के‍

स्र्ाि‍पर‍‍या‍माि‍आएगा? 
37.   = ? ÷ 8 

 A. 2  B. 4 
C. 3 D. 5 
E. 7 

 
 निरे्दश: निम्िलिखित प्रश्िो म़ें प्रश्ि र्चह्ि (?) 

के स्र्ाि पर ‍या आिा चाहहए? 
38.  9  × 94 ÷ 9? = 99 
 A. –2.5 B. 9 

C. 3.5 D. –3.5 
E. 2.5 

 

 निरे्दश:‍निम्ि‍प्रश्ि‍म़ें‍प्रश्ि‍र्चन्ह‍(?) के‍स्र्ाि‍
पर‍‍या‍माि‍आएगा? 

39.  ? – (0.9)2 = (0.8)2÷ 0.40 
 A. 1.76 B. 2.41 

C. 1.86 D. 2.67 
E. 1.95 

 निरे्दश: निम्ि‍प्रश्ि‍म़ें‍प्रश्ि‍र्चन्ह‍(?) के‍स्र्ाि‍
पर‍‍या‍माि‍आएगा? 

40.   of 11325+980=(?)2+436 
 A. 115 B. 126 

C. 98 D. 84 
E. 108 

 
 निरे्दश:‍निम्ि‍प्रश्ि‍म़ें‍प्रश्ि‍र्चन्ह‍(?) के‍स्र्ाि‍

पर‍‍या‍माि‍आएगा? 
41.  48% of 550 – 40 ÷ 0.5 = ? 
 A. 284 B. 164 

C. 254 D. 194 
E. 184 

 
 निरे्दश: निम्िलिखित प्रश्िो म़ें प्रश्ि र्चह्ि (?) 

के स्र्ाि पर ‍या आिा चाहहए? 
42.  45% of 260 –  = ? – 36% of 125 
 A. 127 B. 245 

C. 260 D. 145 
E. 154 

 
 निरे्दश: निम्ि‍प्रश्ि‍म़ें‍प्रश्ि‍र्चन्ह‍(?) के‍स्र्ाि‍

पर‍‍या‍माि‍आएगा? 
43.  (525×24)÷4+50=?×225÷45 
 A. 640 B. 652 

C. 672 D. 598 
E. None of these 

 
 निरे्दश:‍निम्ि‍प्रश्ि‍म़ें‍प्रश्ि‍र्चन्ह‍(?) के‍

स्र्ाि‍पर‍‍या‍माि‍आएगा? 

44.   = 27 
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 A. 16 B. 22 
C. 18 D. 21 
E. 25 

 
 निरे्दश: निम्ि‍प्रश्ि‍म़ें‍प्रश्ि‍र्चन्ह‍(?) के‍स्र्ाि‍

पर‍‍या‍माि‍आएगा? 
45.  [(132)÷16×32)]÷?=24 
 A. 11 B. 13 

C. 24 D. 08 
E. 16 

 
 निरे्दश: दी गई संख्या श्ृंििा म़ें प्रश्ि र्चह्ि 

(?) के स्र्ाि पर ‍या आएगा?  
46.  5, 11, 20, ?, 47, 65, 86 
 A. 40 B. 32 

C. 45 D. 36 
E. इिम़ें से कोई िहीं 

 
 निरे्दश: दी गई संख्या श्ृंििा म़ें प्रश्ि र्चह्ि 

(?) के स्र्ाि पर ‍या आएगा?  
47.  382, ?, 94, 46, 22, 10, 4 
 A. 174 B. 225 

C. 185 D. 190 
E. 282 

 
 निरे्दश: दी गई संख्या श्ृंििा म़ें प्रश्ि र्चह्ि 

(?) के स्र्ाि पर ‍या आएगा?  
48.  3, 7, 13, 27, ?, 107, 213 
 A. 41 B. 47 

C. 63 D. 54 
E. इिम़ें से कोई िहीं 

 
 निरे्दश: दी गई संख्या श्ृंििा म़ें प्रश्ि र्चह्ि 

(?) के स्र्ाि पर ‍या आएगा?  
49.  7, 11, 19, 35, 67, ?, 259 
 A. 169 B. 121 

C. 131 D. 133 
E. इिम़ें से कोई िहीं 

 
 निरे्दश: निम्ि‍संख्या‍शं्ििा‍म़ें‍प्रश्ि‍र्चन्ह‍(?) 

के‍स्र्ाि‍पर‍कौि‍सा‍माि‍आिा‍चाहहए?  
50.  -2, 5, 24, 61, ?, 213 
 A. 96 B. 108 

C. 122 D. 190 
E. इिम़ें‍से‍कोई‍िहीं 

 निरे्दशि (51 – 55) : हदए गए िाइि ग्राफ 
को ध्याि से पढ़ें और िीचे हदए गए प्रश्िों के 
उत्तर द़ें। 

 िीचे हदया गया िाइि ग्राफ दो महीिे- िर्ंबर 
और हदसंबर 2018 म़ें पांच वर्लिन्ि कंपनियों 
के उत्पादि (िाि इकाइयों म़ें) को दशावता है। 

 
51.  यहद िर्ंबर के महीिे म़ें कंपिी T का उत्पादि 

वपछिे महीिे की तुििा म़ें 20% बढा है, तो 
अ‍टूबर और िर्ंबर महीिों को लमिाकर कंपिी 
T का कुि उत्पादि (िाि इकाई म़ें) 

 A. 280 B. 300 
C. 330 D. 396 
E. 424 

52. िर्ंबर म़ें P और Q के कुि उत्पादि और 
हदसंबर म़ें Q और S के कुि उत्पादि के बीच 
अिुपात ज्ञात कऱें। 

 A. 22: 15 B. 11 : 15 
C. 22 : 25 D. 11 : 25 
E. 11 : 20 

53. यहद िर्ंबर म़ें कंपिी X का कुि उत्पादि R 
की तुििा म़ें 20% अर्र्क है, तो िर्ंबर के 
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महीिे म़ें कंपिी X और R का औसत उत्पादि 
ज्ञात कऱें। (िाि इकाइयों म़ें) 

 A. 196 B. 184 
C. 150 D. 156 
E. 176 

54. हदए गए दो महीिों म़ें कंपिी P का कुि 
उत्पादि कंपिी S के कुि उत्पादि की तुििा 
म़ें ककतिा प्रनतशत अर्र्क/कम है? 

 A. 33⅓% B. 12.5% 
C. 37.5% D. 22.5% 
E. इिम़ें से कोई िहीं 

55. यहद S और T का उत्पादि जिर्री 2019 के 
महीिे म़ें हदसंबर 2018 के तुििा म़ें क्रमशः 
30% और 62।5% बढा है, तो जिर्री 2019 
के महीिे म़ें S और T के उत्पादि का अिुपात 
ज्ञात कऱें। 

 A. 6 : 5 B. 7 : 5 
C. 4 : 5 D. 5 : 4 
E. 12 : 13 

56. एक‍िार्‍5 घंटे‍म़ें‍60 ककमी‍की‍दरूी‍तक‍र्ारा‍
के‍प्रनतकूि‍हदशा‍म़ें‍यात्रा‍करती‍है‍जबकक‍र्ारा‍
के‍अिुकूि‍हदशा‍म़ें‍समाि‍दरूी‍की‍यात्रा‍म़ें‍4 
घंटे‍िगते‍हैं।‍र्ारा‍की‍गनत‍‍या‍है? 

 A. 1.5 ककमी/घंटे B. 2.5 ककमी/घंटे 
C. 3 ककमी/घंटे D. 3.5 ककमी/घंटे 
E. 4 ककमी/घंटे 

57. समकोण‍बत्रिुज‍के‍िंबर्त‍पिों‍म़ें‍स‍ेएक‍का‍
र्गव 49 मीटर है‍और‍इसके‍कणव‍और‍अन्य‍
िम्बर्त‍ पि‍ का‍ अिुपात 25:24 है, इसका‍
िेत्रफि‍ज्ञात‍कीक्जए। 

 A. 88 मी2 B. 78 मी2 
C. 82 मी2 D. 84 मी2 
E. 90 मी2 

58. कार A 624‍कक.मी‍दरूी‍12‍घंटे‍म़ें‍तय‍करती‍
है‍और‍एक‍अन्‍य‍कार B समाि‍दरूी‍4‍घंटे‍
कम‍समय‍म़ें‍तय‍करती‍है।‍इि‍दो‍कारों‍द्र्ारा‍
3‍घंटे‍म़ें‍तय‍की‍गई‍दरूी‍के‍बीच‍अंतर‍ज्ञात‍

कऱें‍यहद‍दोिों‍काऱें‍समाि‍हदशा‍म़ें‍चि‍रही‍
हों। 

 A. 68 कक.मी B. 78 कक.मी 
C. 56 कक.मी D. 65 कक.मी 
E. 75 कक.मी 

59. एक‍फ्िास्क‍म़ें‍दरू्‍और‍पािी‍का‍लमश्ण 2:3 
के‍अिुपात‍म़ें‍है, यहद‍फ्िास्क‍म़ें‍स े30 िीटर‍
लमश्ण‍निकािा‍जाता‍है‍और 4 िीटर‍दरू्‍उसम़ें‍
डािा‍ जाता‍ है, तो‍ दरू्‍ और‍ पािी‍ का‍ िया‍
अिुपात 4:5 हो‍जाता‍ है। फ्िास्क‍म़ें‍ लमश्ण‍
की‍प्रारंलिक‍मात्रा‍ज्ञात‍कऱें। 

 A. 40 िीटर B. 60 िीटर 
C. 80 िीटर D. 90 िीटर 
E. 50 िीटर 

60. चमि‍अमि‍से‍50% अर्र्क‍कुशि‍है।‍यहद‍
चमि‍और‍अमि‍एक‍कायव‍को‍42 हदिों‍म़ें‍
पूरा‍करते‍हों, तो‍चमि‍अकेिे‍इस‍कायव‍को‍
ककतिे‍हदिों‍म़ें‍पूरा‍कर‍सकता‍है? 

 A. 70 हदि B. 60 हदि 
C. 65 हदि D. 55 हदि 
E. 85 हदि 

 
 निरे्दश: निम्ि‍प्रश्ि‍म़ें‍प्रश्ि‍र्चन्ह‍(?) के‍स्र्ाि‍

पर‍ ‍या‍ अिुमानित‍ माि‍ आएगा? (आपस‍े
सटीक‍माि‍की‍गणिा‍करिे‍की‍अपेिा‍िहीं‍
है) 

61.  11.99 + 35.89 × 5.99 + √145 = ? 
 A. 210 B. 220 

C. 230 D. 240 
E. 250 

 
 निरे्दश: निम्ि‍प्रश्ि‍म़ें‍प्रश्ि‍र्चन्ह‍(?) के‍स्र्ाि‍

पर‍ ‍या‍ अिुमानित‍ माि‍ आएगा? (आपस‍े
सटीक‍माि‍की‍गणिा‍करिे‍की‍अपेिा‍िहीं‍
है) 

62.  √1224 + √624 = √? × 4.99 
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 A. 144 B. 12 
C. 169 D. 121 
E. 11 

 
 निरे्दश: निम्ि‍प्रश्ि‍म़ें‍प्रश्ि‍र्चन्ह‍(?) के‍स्र्ाि‍

पर‍ ‍या‍ अिुमानित‍ माि‍ आएगा? (आपस‍े
सटीक‍माि‍की‍गणिा‍करिे‍की‍अपेिा‍िहीं‍
है) 

63.  (118.87 + 97.13) ÷ 35.85 + √80 = ? 
 A. 11 B. 15 

C. 27 D. 19 
E. 24 

 निरे्दश: निम्ि‍प्रश्ि‍म़ें‍प्रश्ि‍र्चन्ह‍(?) के‍स्र्ाि‍
पर‍ ‍या‍ अिुमानित‍ माि‍ आएगा? (आपस‍े
सटीक‍माि‍की‍गणिा‍करिे‍की‍अपेिा‍िहीं‍
है) 

64.  (√624 + ?)2 = 575.86 × 224.89 
 A. 335 B. 315 

C. 360 D. 385 
E. 245 

 
 निरे्दश: निम्ि‍प्रश्ि‍म़ें‍प्रश्ि‍र्चन्ह‍(?) के‍स्र्ाि‍

पर‍ ‍या‍ अिुमानित‍ माि‍ आएगा? (आपस‍े
सटीक‍माि‍की‍गणिा‍करिे‍की‍अपेिा‍िहीं‍
है) 

65.  (5.19)3 + (6.05)3 – (7.13)2 – (4.05)3 + 
(2.15)3 – 10.99 = ?2 

 A. 11 B. 15 
C. 13 D. 17 
E. 19 

66. 140 मीटर‍िंबी‍रेिगाड़ी‍A 16 मीटर/सेकंड‍की‍
गनत‍से, 10 मी./से.‍की‍गनत‍स‍ेआती‍रेिगाड़ी‍
C को‍12 सेकंड‍म़ें‍वर्परीत‍हदशा‍म़ें‍पार‍करती‍
है।‍रेिगाड़ी‍C की‍िंबाई‍ज्ञात‍कीक्जए। 

 A. 172 मी. B. 162 मी. 
C. 144 मी. D. 182 मी. 
E. 156 मी. 

67. एक‍व्‍यक्‍‍त‍को‍1800‍रुपये‍म़ें‍एक‍घड़ी‍बेचिे‍
पर‍10% की‍हानि‍होती‍है।‍10% िाि‍अक्जवत‍
करि‍े के‍ लिए‍ उस‍े घड़ी‍ को‍ ककस‍ मूल्‍य‍ पर‍
बेचिा‍चाहहए? 

 A. 2000 B. 2200 
C. 2350 D. 2100 
E. इिम़ें‍से‍कोई‍िहीं 

68. आयताकार‍िेत्र‍को 15 रुपये‍प्रनत‍स़ें.मी‍की‍
दर‍स‍ेबाड़‍िगािे‍की‍िागत 4290 रुपये‍ है‍
तर्ा‍िंबाई‍और‍चौड़ाई‍ के‍ बीच‍का‍अिुपात 
89:54 है।‍आयत‍का‍िेत्रफि‍ज्ञात‍कीक्जए। 

 A. 4806 स़ेंमी2 B. 4810 स़ेंमी2 
C. 4800 स़ेंमी2 D. 4815 स़ेंमी2 
E. इिम़ें‍से‍कोई‍िहीं 

69. सार्ारण‍ब्‍याज और‍चक्रर्दृ्र्र्‍ब्‍याज के‍बीच‍
का‍अंतर 2 र्षव के‍लिए 18 रुपये‍है‍और‍दोिों‍
योजिाओं‍म़ें‍निर्ेश‍की‍गई‍रालश 1800 रुपये‍
है।‍तो 3 र्षव‍बाद‍समाि‍ब्याज‍दर‍पर‍समाि‍
रालश‍पर‍चक्रर्दृ्र्र्‍ब्याज‍ज्ञात‍कऱें। 

 A. 598.8 रुपये B. 588.8 रुपये 
C. 567.8 रुपये D. 595.8 रुपये 
E. 546.8 रुपये 

70. 23 छात्रों‍की‍किा‍की‍औसत‍आयु‍19 र्षव‍है।‍
लशिक‍की‍आयु‍को‍शालमि‍करि‍ेपर‍किा‍की‍
औसत‍आयु‍दो‍र्षव‍बढ‍जाती‍है।‍लशिक‍की‍
आयु‍ज्ञात‍कऱें। 

 A. 67 र्षव B. 57 र्षव 
C. 48 र्षव D. 72 र्षव 
E. 38 र्षव 

 
 Direction (71 – 78) : In the 

following passage, there are blanks, 

each of which has been numbered. 

These numbers are printed below the 

passage and against each, five words 

are suggested, one of which fits the 

blank appropriately. 

Birbal was in Persia at the invitation 

of the king of that country. During his 

stay parties were given in his honour. 

On the eve of his (###Q1###) for 

home, a nobleman (###Q2###) 
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him how he would compare the king 

of Persia to his own king. "Your King 

is a full moon," said Birbal. "Whereas 

mine could be (###Q3###) of as 

the quarter moon." The Persians 

were very happy. But when Birbal 

went home he found that Emperor 

Akbar was furious with hint. "How 

(###Q4###) you belittle your 

own. king?" demanded Akbar. "You 

area traitor!" 

"No, Your Majesty," said Birbal. "I did 

not belittle you. The full moon 

(###Q5###) and disappears 

whereas the quarter moon grows 

with strength. What I, in fact, 

(###Q6###) to the world is that 

your power is (###Q7###) from 

day to day whereas that of the king 

of Persia is about to go into decline." 

Akbar smiled in satisfaction and 

welcomed Birbal back 

(###Q8###) a warm embrace. 

Sol. 

71.  Find out the appropriate word 

 A. Arrival B. Depart 

C. Leave D. Departure 

E. Exit 

 

 Direction: In the following passage, 

there are blanks, each of which has 

been numbered. These numbers are 

printed below the passage and 

against each, five words are 

suggested, one of which fits the blank 

appropriately. 

Birbal was in Persia at the invitation 

of the king of that country. During his 

stay parties were given in his honour. 

On the eve of his (###Q1###) for 

home, a nobleman (###Q2###) 

him how he would compare the king 

of Persia to his own king. "Your King 

is a full moon," said Birbal. "Whereas 

mine could be (###Q3###) of as 

the quarter moon." The Persians 

were very happy. But when Birbal 

went home he found that Emperor 

Akbar was furious with hint. "How 

(###Q4###) you belittle your 

own. king?" demanded Akbar. "You 

area traitor!" 

"No, Your Majesty," said Birbal. "I did 

not belittle you. The full moon 

(###Q5###) and disappears 

whereas the quarter moon grows 

with strength. What I, in fact, 

(###Q6###) to the world is that 

your power is (###Q7###) from 

day to day whereas that of the king 

of Persia is about to go into decline." 

Akbar smiled in satisfaction and 

welcomed Birbal back 

(###Q8###) a warm embrace. 

Sol. 

72.  Find out the appropriate word 

 A. Asked B. Commented 

C. Said D. Made 

E. Question 

73. Find out the appropriate word 

 A. Pass B. Celebrated 

C. Imagined D. Wished 

E. Thought 

74. Find out the appropriate word 

 A. Must B. Could 

C. Should D. Will 

E. Willing 

75. Find out the appropriate word 

 A. Appear B. Decrease 

C. Diminishes D. Reduce 

E. vanish 

76. Find out the appropriate word 

 A. Proclaimed B. Show 

C. Restored D. Promised 

E. Announce 

77. Find out the appropriate word 

 A. Sure B. Fixed 

C. Growing D. New 

E. Increase 

78. Find out the appropriate word 

 A. With B. Giving 

C. Granting D. Shaving 

E. by 

 

 Direction: A sentence with one 

blank is given, indicating that 

something has been omitted. Choose 

the word that best fits into the blank 

appropriately. Sol. 

79.  The captain is very ________ of his 

cricket team. 

 A. Pride B. Good 

C. Eager D. Proud 

E. Strict 
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 Direction: A sentence with one 

blank is given, indicating that 

something has been omitted. Choose 

the word that best fits into the blank 

appropriately. Sol. 

80.  The boy was rewarded for his 

________ behaviour. 

 A. Pleased B. Beautiful 

C. Good D. Tidy 

E. Thriving 

 

 Direction: A sentence with one 

blank is given, indicating that 

something has been omitted. Choose 

the word that best fits into the blank 

appropriately. Sol. 

81.  If you _____ fast, we will reach on 

time. 

 A. journey B. travelled 

C. walk D. talk 

E. reacting 

 

 Direction: A sentence with one 

blank is given, indicating that 

something has been omitted. Choose 

the word that best fits into the blank 

appropriately. Sol. 

82.  The boy was curious to know what 

was _____ the parcel. 

 A. into B. with 

C. in D. at 

E. within 

 

 Direction: A sentence with one 

blank is given, indicating that 

something has been omitted. Choose 

the word that best fits into the blank 

appropriately. Sol. 

83.  The board members could not arrive 

at a _____ regarding the employee. 

 A. Judgement B. Progress 

C. Policy D. Consensus 

E. Action 

 

 Direction: In the given question, 

four words are printed in bold and are 

numbered A, B, C, and D. You have 

to decide which of the following is 

inappropriate in the context. If all the 

words are appropriate in the context 

then mark ‘All correct’ as your 

answer. Sol. 

84.  The firms in developed countries are 

especially eager (A) for unfettered 

(B) access to the attraction (C) 

Chinese market, and have been 

pushing (D) their governments to 

secure it for them. 

 A. D B. A 

C. B D. C 

E. All are correct. 

 

 Direction: In the given question, 

four words are printed in bold and are 

numbered A, B, C, and D. You have 

to decide which of the following is 

inappropriate in the context. If all the 

words are appropriate in the context 

then mark ‘All correct’ as your 

answer. Sol. 

85.  The primary objective (A) of 

medical education should be to 

provide (B) a cater (C) of 

personnel (D) to take care of the 

health needs of the country. 

 A. B B. C 

C. A D. D 

E. All are correct. 

 

 Direction: In the given question, 

four words are printed in bold and are 

numbered A, B, C, and D. You have 

to decide which of the following is 

inappropriate in the context. If all the 

words are appropriate in the context 

then mark ‘All correct’ as your 

answer. Sol. 

86.  India must join region (A) trade 

partnership, hook (B) into global 

value chains, and address (C) 

issues afflicting (D) 

competitiveness. 

 A. D B. A 

C. B D. C 

E. All are correct. 

 

 Direction: In the given question, 

four words are printed in bold and are 

numbered A, B, C, and D. You have 

to decide which of the following is 

inappropriate in the context. If all the 

words are appropriate in the context 

then mark ‘All correct’ as your 

answer. Sol. 
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87.  The state’s exit could result in foreign 

equity (A) control of banks and 

possibly (B) even a loss of 

sovereinty (C) over a sector that is 

vital (D) to the economy. 

 A. B B. C 

C. A D. D 

E. All are correct. 

 

 Direction: In the given question, 

four words are printed in bold and are 

numbered A, B, C, and D. You have 

to decide which of the following is 

inappropriate in the context. If all the 

words are appropriate in the context 

then mark ‘All correct’ as your 

answer. Sol. 

88.  The expansion (A) of rules-based 

trade and investment opened (B) up 

lucrate (C) new markets for US 

firms (D). 

 A. D B. B 

C. C D. A 

E. All are correct. 

 

 Direction: Read the sentence to find 

out whether there is any error in it. 

The error, if any, will be in one part 

of the sentence. The number 

corresponding to that part will be 

your answer. If the given sentence is 

correct as it is, mark the answer as 

No error. Ignore the errors of 

punctuation if any. Sol. 

89.  Vijay had always (1)/ been keen on 

(2)/getting as much (3)/ education 

as he could.(4)/ No error (5) 

 A. 1 B. 2 

C. 3 D. 4 

E. 5 

 

 Direction: Read the sentence to find 

out whether there is any error in it. 

The error, if any, will be in one part 

of the sentence. The number 

corresponding to that part will be 

your answer. If the given sentence is 

correct as it is, mark the answer as 

No error. Ignore the errors of 

punctuation if any. Sol. 

90.  The Chinese word for crisis (1)/ is 

divided in two characters (2)/, one 

meaning danger and (3)/ the other 

meaning opportunity. (4) 

 A. 1 B. 2 

C. 3 D. 4 

E. 5 

 

 Direction: Read the sentence to find 

out whether there is any error in it. 

The error, if any, will be in one part 

of the sentence. The number 

corresponding to that part will be 

your answer. If the given sentence is 

correct as it is, mark the answer as 

No error. Ignore the errors of 

punctuation if any. Sol. 

91.  The writers (1)/ have no qualms on 

(2)/ depicting the gory (3)/ details of 

the violence. (4)/ No error (5) 

 A. 1 B. 2 

C. 3 D. 4 

E. 5 

 

 Direction: Read the sentence to find 

out whether there is any error in it. 

The error, if any, will be in one part 

of the sentence. The number 

corresponding to that part will be 

your answer. If the given sentence is 

correct as it is, mark the answer as 

No error. Ignore the errors of 

punctuation if any. Sol. 

92.  Rajiv has won a prize of (1)/ two 

million dollars which (2)/ has to be 

shared (3)/ between all his team 

members.(4)/ No error (5) 

 A. 1 B. 2 

C. 3 D. 4 

E. 5 

 

 Direction: Read the sentence to find 

out whether there is any error in it. 

The error, if any, will be in one part 

of the sentence. The number 

corresponding to that part will be 

your answer. If the given sentence is 

correct as it is, mark the answer as 

No error. Ignore the errors of 

punctuation if any. Sol. 

93.  My friend lives (1)/ at a beautiful 

house (2)/ not more than (3)/ five 

minutes from the beach.(4)/ No error 

(5) 

www.byjusexamprep.com

http://www.gradeup.com/
https://xu75j.app.goo.gl/iEhW1


 
 

 
14 

 

 A. 1 B. 2 

C. 3 D. 4 

E. 5 

 

 Direction : Read the following 

passage carefully and answer the 

questions given below it. Certain 

words have been printed in bold to 

help you locate them while answering 

some of the questions. 

In a village in the East, there lived an 

old couple. They did not have any 

children and never spent an extra 

paisa on themselves. They never 

repaired their house or cooked good 

food. One day, a family moved into 

the village. It was their son's second 

birthday and they sent two delicious 

laddoos to the old couple. The couple 

ate the laddoos with great relish. For 

days after they could talk of nothing 

else. Finally the old man could take it 

no more. He said to his wife, “Let’s 

buy the ingredients to make just two 

laddoos.” His wife 'agreed but said, 

“If I make the laddoos at home, the 

neighbours will know and will want a 

share. Let’s cook in the woods 

behind our hut. That way no one will 

ever know.” 

The next day the old man purchased 

the ingredients from the market and 

they set off to the woods. Having 

never prepared food like this before, 

they ended up with three laddoos 

instead of two. The old couple 

returned home with the sweets, 

dying to eat them. But there was a 

problem. “It was my idea and I went 

to the market, so I ought to get two,” 

said the old man. But his wife refused 

to give in so easily and said, “Since I 

prepared the sweets. I ought to have 

two.” The day wore on and the 

argument continued. 

At last, the old man suggested, “Let 

us not talk to each other. Whoever 

breaks the silence first will get one 

laddoo and the other person two.” His 

wife agreed. Hours passed, out 

neither of them spoke and finally 

they fell asleep with the bowl of 

sweets between them. That evening 

one of the neighbours knocked on the 

door but the couple did not answer 

for fear of losing the bet. Peering 

through the window, the man saw 

the couple lying on the floor with an 

untouched bowl of food. "They are 

dead!” he shouted and alerted the 

other villagers. Soon the door was 

broken down and the house was 

swarming with villagers. They 

discussed everything from the 

funeral to where the couple had 

hidden their wealth. But the couple 

lay still. 

Finally, the villagers carried them to 

the cremation ground. As the 

flames licked his feet, the old man 

jumped up screaming “You win!” His 

wife jumped up too, happy that she 

had won. The two then rushed home 

leaving the bewildered villagers 

present there behind. But when they 

got home....Alas the door had been 

left open and they found a stray dog 

licking the last crumbs of the sweets 

from the bowl. Sol. 

94.  What caused the old couple’s sudden 

longing for laddoos? 

 A. They hadn’t eaten good food for 

several days 

B. They had attended their 

neighbour’s party and enjoyed the 

laddoos served 

C. They saw the mouth-watering 

laddoos being served to guests at the 

party 

D. They had tasted the laddoos 

prepared for their neighbours son’s 

birthday 

E. They thought that the laddoos 

would satisfy their hunger for days to 

come 

 

 Direction: Read the following 

passage carefully and answer the 

questions given below it. Certain 

words have been printed in bold to 

help you locate them while answering 

some of the questions. 

In a village in the East, there lived an 

old couple. They did not have any 

children and never spent an extra 

paisa on themselves. They never 
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repaired their house or cooked good 

food. One day, a family moved into 

the village. It was their son's second 

birthday and they sent two delicious 

laddoos to the old couple. The couple 

ate the laddoos with great relish. For 

days after they could talk of nothing 

else. Finally the old man could take it 

no more. He said to his wife, “Let’s 

buy the ingredients to make just two 

laddoos.” His wife 'agreed but said, 

“If I make the laddoos at home, the 

neighbours will know and will want a 

share. Let’s cook in the woods 

behind our hut. That way no one will 

ever know.” 

The next day the old man purchased 

the ingredients from the market and 

they set off to the woods. Having 

never prepared food like this before, 

they ended up with three laddoos 

instead of two. The old couple 

returned home with the sweets, 

dying to eat them. But there was a 

problem. “It was my idea and I went 

to the market, so I ought to get two,” 

said the old man. But his wife refused 

to give in so easily and said, “Since I 

prepared the sweets. I ought to have 

two.” The day wore on and the 

argument continued. 

At last, the old man suggested, “Let 

us not talk to each other. Whoever 

breaks the silence first will get one 

laddoo and the other person two.” His 

wife agreed. Hours passed, out 

neither of them spoke and finally 

they fell asleep with the bowl of 

sweets between them. That evening 

one of the neighbours knocked on the 

door but the couple did not answer 

for fear of losing the bet. Peering 

through the window, the man saw 

the couple lying on the floor with an 

untouched bowl of food. "They are 

dead!” he shouted and alerted the 

other villagers. Soon the door was 

broken down and the house was 

swarming with villagers. They 

discussed everything from the 

funeral to where the couple had 

hidden their wealth. But the couple 

lay still. 

Finally, the villagers carried them to 

the cremation ground. As the 

flames licked his feet, the old man 

jumped up screaming “You win!” His 

wife jumped up too, happy that she 

had won. The two then rushed home 

leaving the bewildered villagers 

present there behind. But when they 

got home....Alas the door had been 

left open and they found a stray dog 

licking the last crumbs of the sweets 

from the bowl. Sol. 

95.  Which of the following can be said 

about the old couple? 

 a. They did not have any relatives to 

look after them in their old age 

 b. They were misers and did not 

spend even on keeping their house in 

good condition 

 c. They were not allowed to eat 

sweets as they were old 

 d. They were fond of animals and 

sometimes shared their food with 

stray animals 

 A. Only a B. Only b 

C. Both a and b D. Both a and c 

E. Both c and d 

96. Which of the following is/are TRUE in 

the context of the passage? 

 a. The old woman had prepared more 

laddoos than she had intended. 

 b. The family who had recently 

moved into the village were fond of 

the old couple. 

 c. The villagers were saddened by the 

death of the old couple and gave 

them a grand funeral. 

 A. Only a B. Only b and c 

C. Only a and b D. a, b and c 

E. None of these 

97. Which of the following is most similar 

in meaning to the word given in bold 

as used in the passage? 

Bewilder 

 A. Overtake B. Elapse 

C. Unnoticed D. Baffle 

E. Angry 

98. Which of the following is most 

opposite in meaning to the word 

given in bold as used in the passage? 

Still 
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 A. restless B. noisily 

C. Conscious D. calmly 

E. however 

99. What is meant by the phrase, "As 

the flames licked his feet,.." as 

given in the last paragraph of the 

passage? 

 A. He felt the pyre burning 

B. His feet was engulfed in thick fume 

C. His feet was warmed and 

comforted over the lit fire 

D. Hi feet was moistened by the fire 

E. None of the above 

100.Which of the following is most similar 

in meaning to the word given in bold 

as used in the passage? 

Share 

 A. Half B. Part 

C. Participate D. Divide 

E. Common 
 
 निरे्दश:‍निम्िलिखित‍गर्ांश‍को‍सार्र्ािीपूर्वक‍

अध्ययि‍कीक्जये‍तर्ा‍प्रश्िों‍के‍उत्तर‍दीक्जये।  
छत्रपनत‍लशर्ाजी‍मराठा‍साम्राज्य‍के‍संस्र्ापक‍
रे्।‍10 अप्रैि,सि‍1627 म़ें‍लशर्िेरी‍के‍दगुव‍म़ें‍
जन्मे‍लशर्ाजी‍की‍हहन्द‍ूर्मव‍म़ें‍अटूट‍आस्र्ा‍
र्ी।‍ र्े‍ मािर्ता‍ तर्ा‍ मािर्‍ मूल्यों‍ को‍ पूणव‍
प्रार्लमकता‍देत‍ेरे्।‍र्े‍एक‍सच्चे‍देशि‍त‍रे्।‍
लशर्ाजी‍ के‍ वपता‍श्ी‍शाहजी‍िोंसि‍े एक‍बडे़‍
जागीरदार‍रे्।‍र्े‍बीजापुर‍के‍महाराज‍के‍प्रमुि‍
रे्।‍लशर्ाजी‍के‍जन्म‍के‍बाद‍शाहजी‍िे‍दसूरा‍
वर्र्ाह‍कर‍ककया‍तो‍लशर्ाजी‍की‍माता‍जीजाबाई‍
लशर्िेरी‍से‍पुि‍आ‍गईं।‍लशर्ाजी‍के‍चाररबत्रक‍
निमावण‍ म़ें‍ उिकी‍ माता‍ जीजाबाई‍ का‍ वर्शेष‍
योगदाि‍र्ा।‍ र्ह‍अत्यंत‍र्ालमवक‍ वर्चारों‍की‍
महहिा‍र्ीं‍ क्जसके‍फिस्र्रूप‍ लशर्ाजी‍म़ें‍िी‍
र्ालमवक‍ सहहष्णुता‍ का‍ िार्‍ उत्पन्ि‍ हुआ।‍ र्‍े
सिी‍श्मों‍का‍समाि‍िार्‍स‍ेआदर‍करत‍ेरे्।‍
उस‍समय‍म़ें‍िारत‍मुगिों‍के‍अर्ीि‍र्ा।‍मुगि‍
शासकों‍द्र्ारा‍हहन्दओंु‍पर‍ककये‍गये‍अत्याचार‍
र्‍िेदिार्‍को‍देिकर‍र्‍ेिुब्र्‍रे्।‍हहन्दओंु‍को‍
अपिे‍र्मव‍के‍कारण‍एक‍वर्शषे‍कर‍देिा‍होता‍
र्ा‍ जो‍ जक्जया‍ कर‍ कहिाता‍ र्ा।‍ अपिी‍ ही‍
र्रती‍पर‍अपिे‍ही‍िोगों‍के‍प्रनत‍अन्याय‍को‍

देिकर‍उसे‍सहि‍कर‍जािा‍उिके‍स्र्िार्‍म़ें‍
िहीं‍र्ा।‍अत:‍उन्होंिे‍मुगिों‍को‍उिाड़‍फ़ें कि‍े
का‍संकल्प‍ककया।‍इस‍उद्देश्य‍की‍पूनतव‍के‍लिए‍
उन्होंिे‍अपिी‍सेिा‍का‍गठि‍ ककया।‍ उन्होंिे‍
वर्शाि‍ सेिा‍ पर‍ आक्रमण‍ का‍ िया‍ रास्ता‍
िोजा।‍ उन्होंिे‍ अपिे‍ सैनिकों‍ को‍
गुररल्िा(छापामार)‍ युद्र्‍के‍ लिए‍तैयार‍ ककया‍
क्जससे‍उन्ह़ें‍ युद्र्‍म़ें‍कम‍से‍कम‍हानि‍हो।‍
लशर्ाजी‍ युद्र्‍ वर्द्या‍ म़ें‍ पारंगत‍ रे्।‍ उन्होंिे‍
अपिे‍वर्जय‍अलियाि‍की‍शरुुआत‍कुछ‍छोटे‍
ककिों‍तर्ा‍बीजापुर‍राज्य‍के‍कुछ‍प्रदेशों‍पर‍
वर्जय‍प्राप्त‍की।‍उिके‍बढत‍ेप्रिार्‍से‍बीजापरु‍
का‍राजा‍आतंककत‍ हुआ। लशर्ाजी‍को‍पकड़िे‍
के‍लिए‍उसिे‍कई‍प्रयास‍ककये‍परन्तु‍असफि‍
रहा।‍अंत‍म़ें‍उसिे‍कुटिीनतक‍चाि‍चिी‍तर्ा‍
अपिे‍सेिाध्यि‍अफजि‍िां‍ को‍ लशर्ाजी‍ के‍
पास‍एक‍व्यक्‍तगत‍मुिाकात‍के‍लिए‍िेजा। 
उसका‍उद्देश्य‍लशर्ाजी‍को‍र्ोि‍ेस‍ेित्म‍करिा‍
र्ा‍परन्तु‍लशर्ाजी‍उिकी‍इस‍चाि‍को‍समझ‍
गये। उन्होंिे‍अफजि‍िां‍को‍ित्म‍कर‍हदया।‍
इसके‍पश्चात‍बीजापुर‍की‍सिेा‍को‍िी‍िारी‍
िनत‍उठािी‍पड़ी‍क्जसके‍फिस्र्रूप‍बीजापुर‍के‍
राजा‍ को‍ उिसे‍ शांनत‍ संर्र्‍ करिी‍ पड़ी‍ l 
तत्कािीि‍मुगि‍शासक‍औरंगजेब‍उिके‍बढत‍े
प्रिार्‍स‍ेियिीत‍हो‍उठा।‍उसिे‍लशर्ाजी‍को‍
बंदी‍बिािे‍के‍लिए‍अपिे‍सेिाध्यि‍और‍अिेक‍
सेिािायकों‍को‍िेजा‍परन्तु‍उि‍सिी‍को‍मुंह‍
की‍िािी‍पड़ी।‍लशर्ाजी‍की‍गुररल्िा‍तकिीक‍
के‍सम्मुि‍र्े‍हटक‍िहीं‍सके‍अंतत:‍औरंगजेब‍
िे‍ उन्ह़ें‍ र्ोिे‍ से‍ बंदी‍ बिा‍ लिया‍ परन्तु‍ र्ह‍
अर्र्क‍हदि‍तक‍उन्ह़ें‍कैद‍म़ें‍िहीं‍रि‍सका।‍
अपिी‍चतुराई‍स‍ेर्े‍उसकी‍कैद‍स‍ेनिकि‍सकि‍े
म़ें‍समर्व‍रहे।‍औरंगजेब‍की‍कैद‍से‍निकििे‍के‍
उपरांत‍उन्होंिे‍मुगि‍शासक‍से‍पूणव‍युद्र्‍के‍
लिए‍अपिी‍सेिा‍को‍तैयार‍ककया।‍र्े‍सिी‍ककि‍े
क्जि‍पर‍औरंगजेब‍िे‍अपिा‍आर्र्पत्य‍जमा‍
लिया‍र्ा‍र्े‍सिी‍पुि:उन्होंिे‍जीत‍लिए।‍सि‍
1674 ई.म़ें‍र्े‍रायगढ‍के‍राजा‍बि‍ेऔर‍उिका‍

www.byjusexamprep.com

http://www.gradeup.com/
https://xu75j.app.goo.gl/iEhW1


 
 

 
17 

 

वर्र्र्र्त‍राज्यलिषेक‍हुआ।‍इस‍प्रकार‍लशर्ाजी‍
िे‍िंबे‍अन्तराि‍के‍बाद‍‘हहन्द-ूपद-पादशाही’‍की‍
स्र्ापिा‍की‍l छत्रपनत‍लशर्ाजी‍एक‍साहसी‍एर्‍ं
र्ीर‍योद्र्ा‍रे्।‍यह‍उिकी‍साहस‍र्ीरता‍और‍
कुशाग्रता‍के‍गुण‍ही‍रे्, क्जससे‍उन्होंिे‍वर्शाि‍
मुगि‍सेिा‍स‍ेिी‍युद्र्‍करि‍ेका‍साहस‍ककया।‍
र्े‍ व्यक्‍तगत‍रूप‍से‍ सत्य‍और‍सिी‍मािर्‍
मूल्यों‍पर‍पूणव‍आस्र्ा‍रिते‍रे्।‍युद्र्‍म़ें‍यहद‍
दशु्मि‍ की‍ महहिा‍ बंदी‍ बिाई‍ जाती‍ र्ी‍ तो‍
उिकी‍आज्ञा‍र्ी‍कक‍उन्ह़ें‍सम्मािपूर्वक‍र्ापस‍
िेजा‍जाये।‍र्‍ेसिी‍र्मों‍का‍सम्माि‍करत‍ेरे्।‍
माता‍जीजाबाई‍की‍सादगी‍तर्ा‍पािि-पोषण‍
िे‍उिमे‍चाररबत्रक‍दृढता‍प्रदाि‍की‍l वर्देलशयों‍
को‍ देश‍ से‍ बाहर‍ निकििे‍ का‍ उिका‍ प्रयास‍
िारतर्ासी‍किी‍िुिा‍िहीं‍सक़ें गे‍l Sol. 

101.लशर्ाजी‍ककस‍साम्राज्य‍के‍संस्र्ापक‍रे्‍? 
 A. मुगि B. मराठा 

C. मेर्ाड़ D. रायगढ 
E. बीजापुर 

102.लशर्ाजी‍के‍चाररबत्रक‍निमावण‍म़ें‍ककसका‍वर्शेष‍
योगदाि‍र्ा‍? 

 A. माता B. गुरु 
C. वपता D. लमत्र 
E. लशिक 

103.मुग़ि‍ शासकों‍ द्र्ारा‍ ककस‍ पर‍ ककये‍ गये‍
अत्याचारों‍र्‍िेदिार्‍को‍देिकर‍लशर्ाजी‍दिुी‍
रे्‍? 

 A. मुसिमाि B. महहिा 
C. बच्चों D. हहन्द ू
E. सेिा 

104.िोगों‍ के‍ प्रनत‍ बढते‍ हुए‍ अन्याय‍ को‍ देिकर‍
लशर्ाजी‍िे‍ककस‍पर‍आक्रमण‍करि‍ेका‍िया‍
रास्ता‍िोजा‍? 

 A. बीजापुर‍सेिा B. मेर्ाड़‍सेिा 
C. मुगि‍सेिा D. पुतवगािी‍सेिा 
E. वर्द्रोही 

105.लशर्ाजी‍ की‍ वर्जय‍ के‍ बढत‍े हुए‍ प्रिार्‍ स‍े
आतंककत‍होकर‍ककसिे‍लशर्ाजी‍को‍पकड़िे‍के‍
लिए‍प्रयास‍ककये‍? 

 A. अफजि‍िां B. मुगि‍शासक 
C. औरंगजेब D. मुक्स्िम 
E. बीजापुर‍का‍राजा 

106.बीजापुर‍ के‍ राजा‍ द्र्ारा‍ िेजा‍ गया‍सेिाध्यि‍
अफजि‍िां‍का‍‍या‍उद्देश्य‍र्ा‍? 

 A. लशर्ाजी‍को‍र्ोि‍ेस‍ेित्म‍करिा 
B. िड़ाई‍को‍ित्म‍करिा 
C. सेिा‍को‍अपिी‍सेिा‍म़ें‍लमिािा 
D. िोगों‍म़ें‍डर‍पैदा‍करिा 
E. लशर्ाजी‍को‍बंदी‍बिािा 

107.लशर्ाजी‍ की‍ कौि‍ सी‍ तकिीक‍ के‍ सम्मुि‍
औरंगजेब‍हटक‍िहीं‍सका‍? 

 A. समझौता‍तकिीक 
B. गुररल्िा‍तकिीक 
C. वर्द्रोह 
D. वर्जय‍अलियाि 
E. शांनत‍संर्र् 

108.औरंगजेब‍के‍जीत‍ेहुए‍ककिों‍पर‍पुि:जीत‍प्राप्त‍
करि‍ेके‍सार्‍ही‍लशर्ाजी‍सि‍1674 म़ें‍कहााँ‍
के‍राजा‍बिे‍? 

 A. मेर्ाड़ B. मराठा 
C. रायगढ D. बीजापुर 
E. मुगि 

109.लशर्ाजी‍की‍व्यक्‍तगत‍रूप‍से‍ककस‍पर‍आस्र्ा‍
र्ी‍? 

 A. समािता B. रीनत-ररर्ाज 
C. र्मव D. सत्य 
E. अहहसंा 

110.लशर्ाजी‍की‍आज्ञा‍के‍तहत‍उन्होंिे‍ककसे‍सम्माि‍
पूर्वक‍र्ावपस‍िेजि‍ेकी‍आज्ञा‍की‍अिुमनत‍दी‍
? 

 A. माता B. महहिाओं‍र्‍बच्चो 
C. महहिाओं D. सेिा 
E. महहिा‍बंदी 
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 निरे्दश (11 – 15) : िीचे‍हदए‍गए‍पररच्छेद‍म़ें‍
कुछ‍रर‍त‍स्र्ाि‍छोड़‍हदए‍गए‍हैं‍तर्ा‍उन्ह़ें‍
प्रश्ि‍ संख्या‍ म़ें‍ दशावया‍ गया‍ है।‍ ये‍ संख्याए‍ं
पररच्छेद‍के‍िीचे‍मुहद्रत‍हैं, प्रत्येक‍के‍सामिे‍
कुछ‍वर्कल्प‍हदए‍गए‍हैं।‍इिम़ें‍स‍ेकोई‍एक‍
इस‍रर‍त‍स्र्ाि‍को‍पूरे‍पररच्छेद‍के‍संदिव‍म़ें‍
उपयु‍त‍ढंग‍स‍ेपूरा‍कर‍देता‍है।‍आपको‍यह‍
वर्कल्प‍ज्ञात‍करिा‍है, और‍उसका‍क्रमांक‍ही‍
उत्तर‍ के‍ रूप‍ म़ें‍ दशाविा‍ है। 
यह‍सत्य‍है‍कक‍कौरर्‍और‍पाण्डर्‍दोिों‍पिों‍
के‍र्ीर‍ (###Q1###) के‍ युद्र्‍को‍र्मवयुद्र्‍
मािकर‍िड़‍रहे‍रे्, ककन्तु‍र्मव‍पर‍दोिों‍म़ें‍स‍े
कोई‍िी‍अडडग‍िहीं‍रह‍सका।‍‘‘िक्ष्य‍प्राप्त‍हो‍
चाहे‍ि‍हो, ककन्तु‍हम‍(###Q2###) पर‍पााँर्‍
िहीं‍ रि़ेंगे।’’‍ इस‍ निष्ठा‍ की‍ अर्हेििा‍ दोिों‍
पिों‍से‍ हुई‍और‍दोिों‍पिों‍के‍सामिे‍साध्य‍
प्रमुि‍और‍सार्ि‍गौण‍हो‍गया।‍अलिमन्यु‍की‍
हत्या‍ (###Q3###) स‍े की‍ गई‍ तो, िीष्म, 
द्रोण, िूररश्र्ा‍कणव‍और‍स्र्यं‍दयुोर्ि‍का‍र्र्‍
िी‍पुण्य‍से‍िहीं‍हुआ।‍क्जस‍युद्र्‍म़ें‍िीष्म, 
द्रोण‍और‍श्ीकृष्ण‍र्तवमाि‍हों, उस‍युद्र्‍म़ेंंं‍
िी‍र्मव‍का‍पािि‍िहीं‍हो‍सका, इससे‍तो‍यही‍
निष्कषव‍निकिता‍है‍कक‍युद्र्‍किी‍िी‍र्मव‍के‍
पर्‍ पर‍ रहकर‍ िड़ा‍ िहीं‍ जा‍ सकता।‍
(###Q4###) का‍आहद‍िी‍अर्मव‍है, मध्य‍िी‍
अर्मव‍है‍और‍अंत‍िी‍अर्मव‍है।‍क्जसकी‍आाँिों‍
पर‍िोि‍की‍पट्टी‍िहीं‍बंर्ी‍है, जो‍क्रोर्, आर्ेश‍
अर्र्ा‍स्र्ार्वर्श‍अपिे‍(###Q5###) को‍िूि‍
िहीं‍ गया‍ है, क्जसकी‍ आाँि‍ सार्िा‍ की‍
अनिर्ायवता‍स‍ेहटकर‍साध्य‍पर‍ही‍केक्न्द्रत‍िहीं‍
हो‍गई‍है, र्ह‍युद्र्‍जैसे‍मलिि‍कमव‍म़ें‍किी‍
िी‍प्रर्तृ्त‍िहीं‍ होगा।‍ युद्र्‍म़ें‍प्रर्तृ्त‍होिा‍ ही‍
इस‍बात‍का‍प्रमाण‍है‍कक‍मिुष्य‍अपिे‍रागों‍
का‍दास‍बि‍गया‍है।‍कफर‍जो‍रागों‍की‍दासता‍
करता‍है, र्ह‍उिका‍नियंत्रण‍कैसे‍करेगा? Sol. 

111.हदए‍ गए‍ वर्कल्पों‍ म़ें‍ स‍े उपयु‍त‍ का‍ चयि‍
करिा‍है। 

 A. हहस्तिापुर B. हदल्िी 
C. हल्दीघाटी D. कुरूिेत्र 
E. इिम़ें‍से‍कोई‍िहीं 

112.हदए‍ गए‍ वर्कल्पों‍ म़ें‍ से‍ उपयु‍त‍ का‍ चयि‍
करिा‍है। 

 A. कुमागव B. सन्मागव 
C. अपमागव D. र्मवमागव 
E. इिम़ें‍से‍कोई‍िहीं 

113.हदए‍ गए‍ वर्कल्पों‍ म़ें‍ से‍ उपयु‍त‍ का‍ चयि‍
करिा‍है। 

 A. शाप B. श्ाप 
C. बि D. पाप 
E. इिम़ें‍से‍कोई‍िहीं 

114.हदए‍ गए‍ वर्कल्पों‍ म़ें‍ से‍ उपयु‍त‍ का‍ चयि‍
करिा‍है। 

 A. अहहसंा B. हहसंा 
C. िय D. कू्ररता 
E. इिम़ें‍से‍कोई‍िहीं 

115.हदए‍ गए‍ वर्कल्पों‍ म़ें‍ से‍ उपयु‍त‍ का‍ चयि‍
करिा‍है। 

 A. ईमािदारी B. हैलसयत 
C. इच्छा D. कत्तवव्य 
E. इिम़ें‍से‍कोई‍िहीं 

 
 निरे्दश:‍निम्िलिखित‍6 र्ा‍यांशों‍म़ें‍से‍प्रर्म‍

(1) र्‍अंनतम‍(6) निक्श्चत‍है‍l शेष‍को‍उर्चत‍
क्रम‍म़ें‍व्यर्क्स्र्त‍कीक्जये‍l Sol. 

116.शेष‍ र्ा‍यांशों‍ को‍ उर्चत‍ क्रम‍ म़ें‍ व्यर्क्स्र्त‍
कीक्जये‍ . 
(1) जि‍ म़ें‍ आर्श्यकता‍ स‍े अर्र्क‍ िनिज‍
िर्ण, काबवनिक‍ तर्ा‍ अकाबवनिक‍ पदार्व 
(य)‍ तर्ा‍ और्ोर्गक‍ संयंत्रों‍ स‍े निकि‍े
रासायनिक‍ पदार्व, 
(र)‍तर्ा‍अन्य‍जिीय‍िेत्रों‍म़ें‍वर्सक्जवत‍ककये‍
जािे‍ स े
(ि)‍ अपलशष्ट‍ पदार्व‍ का‍ मतृ‍ जंतु, िहदयों, 
झीिों, सागरों 
(र्)‍ ये‍पदार्व‍जि‍ के‍प्राकृनतक‍र्‍र्ास्तवर्क‍
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रूप‍को‍िष्ट‍करकर‍उस‍ेप्रदवूषत‍कर‍देत‍ेहैं, 
(6) क्जसका‍मिुष्य‍तर्ा‍अन्य‍जीर्ों‍पर‍घटक‍
प्रिार्‍पड़ता‍है‍l 

 A. य‍ि‍र‍र् B. ि‍र‍र्‍य 
C. र‍य‍ि‍र् D. र्‍य‍र‍ि 
E. य‍ि‍र्‍र 

117. शेष‍ र्ा‍यांशों‍ को‍ उर्चत‍ क्रम‍ म़ें‍ व्यर्क्स्र्त‍
कीक्जये 
(1) िारत‍ म़ें‍ दलित‍ जानतयों‍ म़ें‍ अिुसूर्चत‍
जानतयां 
(य)‍जहााँ‍तक‍अिुसूर्चत‍जानतयों‍का‍सम्बन्र्‍
है 
(र)‍ और‍ जिजानतयााँ‍ आती‍ हैं‍ l 
(ि)‍ र्े‍ सम्पूणव‍ देश‍ म़ें‍ फैिी‍ हुई‍ हैं 
(र्)‍इि‍दोिों‍जानतयों‍की‍ क्स्र्नत‍म़ें‍पयावप्त‍
अंतर‍ है‍ l 
(6) और‍समाज‍के‍अन्य‍र्गों‍के‍बीच‍रहती‍हैं‍
l 

 A. य‍ि‍र‍र् B. ि‍र‍र्‍य 
C. र्‍य‍र‍ि D. र‍र्‍य‍ि 
E. ि‍य‍र‍र् 

118. शेष‍ र्ा‍यांशों‍ को‍ उर्चत‍ क्रम‍ म़ें‍ व्यर्क्स्र्त‍
कीक्जये 
(1) सम्पूणव‍ देश‍ के‍सिी‍सार्िों‍र्‍शक्‍तयों‍
द्र्ारा 
(य)‍नियोक्जत‍अर्वव्यर्स्र्ा‍के‍द्र्ारा‍देश‍का 
(र)‍इस‍प्रकार‍समुर्चत‍आर्र्वक‍वर्कास‍ककया‍
जाता‍ है, 
(ि)‍निक्श्चत‍अर्र्र्‍के‍िीतर‍निर्ावररत‍िक्ष्यों 
(र्)‍ र्‍ उद्देश्यों‍की‍ पूनतव‍ करिा‍ ही‍ नियोजि‍
कहिाता‍ है‍ l 
(6) क्जससे‍उसका‍िाि‍सम्पणूव‍देश‍को‍प्राप्त‍
हो‍सके‍l 

 A. र्‍ि‍र‍य B. य‍ि‍र्‍र 
C. ि‍र्‍य‍र D. र्‍र‍य‍ि 
E. र‍य‍ि‍र् 

119.शेष‍ र्ा‍यांशों‍ को‍ उर्चत‍ क्रम‍ म़ें‍ व्यर्क्स्र्त‍
कीक्जये 

(1) हमारी‍साहहक्त्यक‍परम्परा‍बहुत‍प्राचीि‍और‍
समदृ्र्‍ है‍ l 
(य)‍िारत‍िे‍वर्श्र्‍को‍महाि‍साहहक्त्यक‍और‍
सार्विौलमक‍ मूल्य‍ की‍ कृनतयााँ‍ दी‍ हैं‍ l 
(र)‍हमारे‍साहहत्य‍म़ें‍हमारे‍ देश‍की‍वर्लिन्ि‍
िाषाओँ 
(ि)‍ हमारा‍ प्राचीि‍ साहहत्य‍ संस्कृत, पािी‍
प्राकृत, अपभ्रंश, तलमि 
(र्)‍ और‍ बोलियों‍ का‍ लिखित‍ और‍ मौखिक‍
साहहत्य‍ सक्म्मलित‍ है‍ l 
(6) और‍फारसी‍इत्याहद‍िाषाओँ‍म़ें‍है‍l 

 A. य‍र‍ि र्  B. ि‍य‍र‍र् 
C. र्‍ि‍र‍य D. र‍र्‍य‍ि 
E. य‍र‍र्‍ि 

 
 निरे्दश: निम्िलिखित‍ 6 र्ा‍यांशों‍ म़ें‍ स‍े

प्रर्म(1) र्‍अंनतम(6) निक्श्चत‍ है‍ l शेष‍को‍
उर्चत‍क्रम‍म़ें‍व्यर्क्स्र्त‍कीक्जये‍l Sol. 

120.शेष‍ र्ा‍यांशों‍ को‍ उर्चत‍ क्रम‍ म़ें‍ व्यर्क्स्र्त‍
कीक्जयेl 
(1) ि‍ कोई‍ साम्राज्य‍ ककसी‍ अर्र्नियम‍ के‍
बिािे‍ से‍ बिता‍ है 
(य)‍और‍बिहटश‍कूटिीनत‍की‍वर्जय‍के‍कारण‍
स्र्ावपत‍ हुआ‍ र्ा 
(र)‍और‍ि‍ही‍ककसी‍दसूरे‍अर्र्नियम‍स‍ेएक‍
बिा‍ हुआ‍ साम्राज्य‍ उिड़‍ सकता‍ है‍ l 
(ि)‍ और‍ र्ैसे‍ ही‍ िारतीय‍ जिता‍ के‍ िंब े
(र्)‍बिहटश‍साम्राज्य‍िारत‍म़ें‍ककसी‍अर्र्नियम‍
स‍े िहीं‍ र्रि‍ बिहटश‍ शस्त्रों 
(6) और‍सफि‍स्र्ातंत्र्य‍युद्र्‍युद्र्‍के‍कारण‍
उसका‍अंत‍हुआ‍l 

 A. य‍ि‍र्‍र B. र‍र्‍ि‍य 
C. र‍र्‍य‍ि D. ि‍य‍र्‍र 
E. इिम़ें‍से‍कोई‍िहीं 

 
 निरे्दश: िीचे‍हदया‍गया‍प्रत्येक‍र्ा‍य‍चार‍िागों‍

म़ें‍बांटा‍गया‍है‍क्जन्ह़ें‍(1), (2), (3) और‍(4) 
क्रमांक‍हदए‍गए‍हैं।‍आपको‍यह‍देििा‍है‍कक‍
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र्ा‍य‍के‍ककसी‍िाग‍म़ें‍व्याकरण, िाषा, र्तविी, 
शब्दों‍के‍गित‍प्रयोग‍या‍इसी‍तरह‍की‍कोई‍
त्रुहट‍तो‍िहीं‍है।‍त्रुहट‍अगर‍होगी‍तो‍र्ा‍य‍के‍
ककसी‍ एक‍ िाग‍ म़ें‍ ही‍ होगी, उस‍ िाग‍ का‍
क्रमांक‍ही‍उत्तर‍है।‍अगर‍र्ा‍य‍त्रुहटरहहत‍है‍तो‍
उत्तर‍(5) दीक्जए। Sol. 

121.नतरूपनत‍ देर्स्र्ािम‍् के‍अर्र्काररयों‍ (1) / िे‍
सूर्चत‍ककया‍ है‍ कक‍दशविार्र्वयों‍िे‍(2) / कई‍
करोड़‍रूपये‍के‍हीरे, सोिे‍और‍(3) / चांदी‍के‍
जेर्रात‍मंहदर‍म़ें‍चढाए‍रे्।‍(4)/ त्रुहटरहहत(5) 

 A. र्ा‍य(1) B. र्ा‍य(2) 
C. र्ा‍य(3) D. र्ा‍य(4) 
E. त्रुहटरहहत 

 
 निरे्दश:‍िीचे‍हदया‍गया‍प्रत्येक‍र्ा‍य‍चार‍िागों‍

म़ें‍बांटा‍गया‍है‍क्जन्ह़ें‍(1), (2), (3) और‍(4) 
क्रमांक‍हदए‍गए‍हैं।‍आपको‍यह‍देििा‍है‍कक‍
र्ा‍य‍के‍ककसी‍िाग‍म़ें‍व्याकरण, िाषा, र्तविी, 
शब्दों‍के‍गित‍प्रयोग‍या‍इसी‍तरह‍की‍कोई‍
त्रुहट‍तो‍िहीं‍है।‍त्रुहट‍अगर‍होगी‍तो‍र्ा‍य‍के‍
ककसी‍ एक‍ िाग‍ म़ें‍ ही‍ होगी, उस‍ िाग‍ का‍
क्रमांक‍ही‍उत्तर‍है।‍अगर‍र्ा‍य‍त्रुहटरहहत‍है‍तो‍
उत्तर‍(E) दीक्जए। Sol. 

122.स्कूिों‍म़ें‍ वर्द्यार्ी‍संसार्िों‍की‍कमी, लशिा‍
(1) / के‍प्रनत‍माता-वपता‍की‍उदासीिता‍(2) / 
पाठ्यक्रम‍के‍स्तर‍आहद‍के‍बारे‍म़ें‍(3) / सोच-
सोच‍कर‍बड़ी‍निराशा‍होती‍है।‍(4)/ त्रुहटरहहत(5) 

 A. र्ा‍य‍(1) B. र्ा‍य‍(2) 
C. र्ा‍य‍(3) D. र्ा‍य‍(4) 
E. त्रुहटरहहत 

 
 निरे्दश:‍िीचे‍हदया‍गया‍प्रत्येक‍र्ा‍य‍चार‍िागों‍

म़ें‍बांटा‍गया‍है‍क्जन्ह़ें‍(1), (2), (3) और‍(4) 
क्रमांक‍हदए‍गए‍हैं।‍आपको‍यह‍देििा‍है‍कक‍
र्ा‍य‍के‍ककसी‍िाग‍म़ें‍व्याकरण, िाषा, र्तविी, 
शब्दों‍के‍गित‍प्रयोग‍या‍इसी‍तरह‍की‍कोई‍
त्रुहट‍तो‍िहीं‍है।‍त्रुहट‍अगर‍होगी‍तो‍र्ा‍य‍के‍
ककसी‍ एक‍ िाग‍ म़ें‍ ही‍ होगी, उस‍ िाग‍ का‍

क्रमांक‍ही‍उत्तर‍है।‍अगर‍र्ा‍य‍त्रुहटरहहत‍है‍तो‍
उत्तर‍(E) दीक्जए। Sol. 

123.र्‍त‍की‍सिाि़ें‍इतिी‍(1) / िाजुक‍िहीं‍होती‍
कक‍(2) / घड़ी‍की‍मामिूी-सी‍(3) / सूइया‍उन्ह़ें‍
तोड़‍सक़ें ।‍(4) / त्रुहटरहहत‍(5) 

 A. र्ा‍य‍(1) B. र्ा‍य‍(2) 
C. र्ा‍य‍(3) D. र्ा‍य‍(4) 
E. त्रुहटरहहत 

 
 निरे्दश:‍िीचे‍हदया‍गया‍प्रत्येक‍र्ा‍य‍चार‍िागों‍

म़ें‍बांटा‍गया‍है‍क्जन्ह़ें‍(1), (2), (3) और‍(4) 
क्रमांक‍हदए‍गए‍हैं।‍आपको‍यह‍देििा‍है‍कक‍
र्ा‍य‍के‍ककसी‍िाग‍म़ें‍व्याकरण, िाषा, र्तविी, 
शब्दों‍के‍गित‍प्रयोग‍या‍इसी‍तरह‍की‍कोइव‍
त्रुहट‍तो‍िहीं‍है।‍त्रुहट‍अगर‍होगी‍तो‍र्ा‍य‍के‍
ककसी‍ एक‍ िाग‍ म़ें‍ ही‍ होगी, उस‍ िाग‍ का‍
क्रमांक‍ही‍उत्तर‍है।‍अगर‍र्ा‍य‍त्रुहटरहहत‍है‍तो‍
उत्तर‍(E) दीक्जए। Sol. 

124.िगातार‍होते‍साम्प्रदानयक‍दंगे‍संवर्र्ाि‍म़ें‍(1) 
/ निहहत‍र्मव-निरपेिता‍को‍िाररज‍करत‍ेरहे‍
और‍(2) / समय‍के‍सार्‍क्जस‍साम्प्रदानयकता‍
(3) / को‍कमजोर‍होिा‍र्ा‍र्ह‍बढती‍गयी।‍
(4)/ त्रुहटरहहत(5) 

 A. र्ा‍य‍(1) B. र्ा‍य‍(2) 
C. र्ा‍य‍(3) D. र्ा‍य‍(4) 
E. त्रुहटरहहत 

 
 निरे्दश: िीचे‍हदया‍गया‍प्रत्येक‍र्ा‍य‍चार‍िागों‍

म़ें‍बांटा‍गया है‍क्जन्ह़ें‍A, B, C और‍D क्रमाकं‍
हदए‍गए‍हैं।‍आपको‍यह‍देििा‍है‍कक‍र्ा‍य‍के‍
ककसी‍िाग‍म़ें‍व्याकरण, िाषा,शब्दों‍के‍गित‍
प्रयोग‍या‍इसी‍तरह‍की‍कोई‍त्रुहट‍तो‍िहीं‍है।‍
त्रुहट‍अगर‍होगी‍तो‍र्ा‍य‍के‍ककसी‍एक‍िाग‍
म़ें‍ही‍होगी, उस‍िाग‍का‍क्रमांक‍ही‍उत्तर‍है।‍
अगर‍र्ा‍य‍त्रुहटरहहत‍है‍तो‍उत्तर‍कोइव‍त्रुहट‍िही‍ं
होगा। Sol. 

125.यह‍तय‍ है‍ कक‍सार्ारण‍िागररक (1)/ अपिे‍
अर्र्कारों‍ और‍ मि‍ के (2)/ प्रनत‍ क्जतिा‍
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जागरूक‍होगा, समाज (3)/ म़ें‍पररर्तवि‍उतिी‍
ही‍तेजी‍से‍आएगा। (4)/ त्रुहटरहहत‍(5) 

 A. र्ा‍य‍1 B. र्ा‍य‍2 
C. र्ा‍य‍3 D. र्ा‍य‍4 
E. र्ा‍य‍5 

  
 निरे्दश: िीचे‍कुछ‍र्ा‍यांश‍या‍शब्द‍हदए‍गये‍हैं‍

और‍उसके‍बाद‍चार‍शब्द‍हदए‍गये‍हैं‍जो‍एक‍
ही‍शब्द‍म़ें‍इस‍र्ा‍यांश‍या‍शब्द‍-‍समूह‍का‍
अर्व‍प्रकट‍करता‍है‍l आपको‍यह‍पता‍िगािा‍
है‍ कक‍र्ह‍शब्द‍कौि‍सा‍ है‍जो‍र्ा‍यांश‍या‍
शब्द‍समूह‍का‍सही‍अर्व‍प्रकट‍करता‍है‍l उस‍
वर्कल्प‍का‍क्रमांक‍ही‍आपका‍उत्तर‍है‍ l यहद‍
कोई‍शब्द‍अर्व‍िहीं‍प्रकट‍करता‍ है‍तो‍उत्तर‍
(5) अर्ावत‍्इिमे‍स‍ेकोई‍उत्तर‍िहीं‍है‍l Sol. 

126.जाििे योग्य 
 A. जातक B. ज्ञाि 

C. ज्ञातव्य D. गंतव्य 
E. इिमे‍से‍कोई‍िहीं 

 
 निरे्दश :‍िीचे‍कुछ‍मुहार्रे‍या‍र्ा‍यांश‍हदए‍गये‍

हैं‍और‍उसके‍बाद‍चार‍र्ा‍यांश‍या‍शब्द‍हदए‍
गये‍ हैं‍ जो‍ प्रश्ि‍ का‍ अर्व‍ प्रकट‍ करता‍ है‍ l 
आपको‍यह‍पता‍िगािा‍है‍कक‍र्ह‍र्ा‍यांश‍या‍
शब्द‍कौि‍सा‍है‍जो‍हदए‍गये‍र्ा‍यांश‍या‍शब्द‍
समूह‍का‍सही‍अर्व‍प्रकट‍करता‍है‍l उस‍वर्कल्प‍
का‍क्रमांक‍ही‍आपका‍उत्तर‍है‍l यहद‍कोई‍शब्द‍
अर्व‍प्रकट‍िहीं‍करता‍तो‍उत्तर‍(5) अर्ावत‍इिमे‍
स‍ेकोई‍उत्तर‍िहीं‍है‍l Sol. 

127.आँखों से गिरिा 
 A. कुछ‍असर‍िा‍होिा 

B. र्क‍जािा 
C. सम्माि‍रहहत‍होिा 
D. बुरा‍िगिा 
E. सार्र्ाि‍होिा 

128.कलेजा छलिी होिा 
 A. शमव‍अिुिर्‍करिा 

B. हदि‍बहुत‍दिुी‍होिा 
C. बुरी‍तरह‍हारिा 
D. कठोर‍शब्दों‍का‍प्रयोग 
E. दिुी‍का‍ह्रदय‍दिुािा 

129.निरे्दश: िीचे शब्द‍हदए‍गए‍हैं‍क्जिम़ें‍स‍ेएक‍म़ें‍
र्तविी‍संबंर्ी‍त्रुहट‍हो‍सकती‍है।‍उस‍त्रुहटयु‍त‍
शब्द ही‍आपका‍ उत्तर‍ होगा।‍यहद‍चारों‍शब्द‍
शुद्र्‍लििे‍हों‍तो‍सिी‍शुद्र्‍हैं‍आप‍का‍उत्तर‍
होगा । 

 A. ऊध्र्वगामी B. बहूमुल्य 
C. बुद्र्र्जीर्ी D. निष्किंक 
E. सिी‍शुद्र्‍हैं 

130.निरे्दश:‍निम्िलिखित‍पााँच‍म़ें‍से‍चार‍समािार्ी‍
शब्द‍ हैं।‍ क्जस‍ क्रमांक‍ म़ें‍ इिसे‍ लिन्ि‍ शब्द‍
हदया‍गया‍है, उस‍शब्द‍का‍चयि‍करे 

 A. मसिरी B. छींटाकशी 
C. उपहास D. मिौि 
E. हहिोर 

 
 

  

www.byjusexamprep.com

http://www.gradeup.com/
https://xu75j.app.goo.gl/iEhW1


 
 

 
22 

 

 

ANSWERS 
 

1. Ans. B.  

1. Ans. C.  

Languages of the 6 speakers: Hindi, 

Spanish, French, English, Chinese & 

Arabic. 

Direction: South. 

1. The Spanish speaker is sitting at the 

extreme end, but not adjacent to the 

Hindi speaker. 

2. As we don’t know at which end the 

Spanish speaker is sitting, he can be 

either to the left or at the right end. 

So, there will be 2 cases. 

Case 1: 

 
Case 2: 

 
3. The person speaking Hindi is sitting 2nd 

to the right of the person speaking French 

but is not at the end. 

4. The person speaking Spanish is not 

adjacent to Hindi speaker. 

5. We don’t know the position of Hindi & 

French speaker. 

So, there will be further 2 sub- cases, for 

each main case. 

Case 1: 

Case 1(a) 

 
Case 1(b) 

 
Case 2: 

Case 2(a) 

 
Case 2(b) 

 
6. The person speaking English is sitting 

adjacent to the person speaking Hindi but 

not adjacent to the French speaker. 

Case 1(a) 

 
Case 1(b) 

 
Case 2(a) 

 
Case 2(b) 

 
7. The Chinese speaker is 3rd to the left of 

the Arabic speaker, who is sitting at one 

of the ends. 

This is possible only in Case 2(a). So, 

remaining all three cases are eliminated. 

The final arrangement is: 

 
Hence, the required answer is Arabic & 

Spanish. 

2. Ans. B.  

Languages of the 6 speakers: Hindi, 

Spanish, French, English, Chinese & 

Arabic. 

Direction: South. 

1. The Spanish speaker is sitting at the 

extreme end, but not adjacent to the 

Hindi speaker. 

2. As we don’t know at which end the 

Spanish speaker is sitting, he can be 

either to the left or at the right end. 
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So, there will be 2 cases. 

Case 1: 

 
Case 2: 

 
3. The person speaking Hindi is sitting 2nd 

to the right of the person speaking French 

but is not at the end. 

4. The person speaking Spanish is not 

adjacent to Hindi speaker. 

5. We don’t know the position of Hindi & 

French speaker. 

So, there will be further 2 sub- cases, for 

each main case. 

Case 1: 

Case 1(a) 

 
Case 1(b) 

 
Case 2: 

Case 2(a) 

 
Case 2(b) 

 
6. The person speaking English is sitting 

adjacent to the person speaking Hindi but 

not adjacent to the French speaker. 

Case 1(a) 

 
Case 1(b) 

 

Case 2(a) 

 
Case 2(b) 

 
7. The Chinese speaker is 3rd to the left of 

the Arabic speaker, who is sitting at one 

of the ends. 

This is possible only in Case 2(a). So, 

remaining all three cases are eliminated. 

The final arrangement is: 

 
Hence, the required answer is immediate 

right. 

3. Ans. B.  

Languages of the 6 speakers: Hindi, 

Spanish, French, English, Chinese & 

Arabic. 

Direction: South. 

1. The Spanish speaker is sitting at the 

extreme end, but not adjacent to the 

Hindi speaker. 

2. As we don’t know at which end the 

Spanish speaker is sitting, he can be 

either to the left or at the right end. 

So, there will be 2 cases. 

Case 1: 

 
Case 2: 

 
3. The person speaking Hindi is sitting 2nd 

to the right of the person speaking French 

but is not at the end. 

4. The person speaking Spanish is not 

adjacent to Hindi speaker. 

5. We don’t know the position of Hindi & 

French speaker. 
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So, there will be further 2 sub- cases, for 

each main case. 

Case 1: 

Case 1(a) 

 
Case 1(b) 

 
Case 2: 

Case 2(a) 

 
Case 2(b) 

 
6. The person speaking English is sitting 

adjacent to the person speaking Hindi but 

not adjacent to the French speaker. 

Case 1(a) 

 
Case 1(b) 

 
Case 2(a) 

 
Case 2(b) 

 
7. The Chinese speaker is 3rd to the left of 

the Arabic speaker, who is sitting at one 

of the ends. 

This is possible only in Case 2(a). So, 

remaining all three cases are eliminated. 

The final arrangement is: 

 
Hence, the required answer is 2. 

4. Ans. E.  

Languages of the 6 speakers: Hindi, 

Spanish, French, English, Chinese & 

Arabic. 

Direction: South. 

1. The Spanish speaker is sitting at the 

extreme end, but not adjacent to the 

Hindi speaker. 

2. As we don’t know at which end the 

Spanish speaker is sitting, he can be 

either to the left or at the right end. 

So, there will be 2 cases. 

Case 1: 

 
Case 2: 

 
3. The person speaking Hindi is sitting 2nd 

to the right of the person speaking French 

but is not at the end. 

4. The person speaking Spanish is not 

adjacent to Hindi speaker. 

5. We don’t know the position of Hindi & 

French speaker. 

So, there will be further 2 sub- cases, for 

each main case. 

Case 1: 

Case 1(a) 

 
Case 1(b) 

 
Case 2: 

Case 2(a) 
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Case 2(b) 

 
6. The person speaking English is sitting 

adjacent to the person speaking Hindi but 

not adjacent to the French speaker. 

Case 1(a) 

 
Case 1(b) 

 
Case 2(a) 

 
Case 2(b) 

 
7. The Chinese speaker is 3rd to the left of 

the Arabic speaker, who is sitting at one 

of the ends. 

This is possible only in Case 2(a). So, 

remaining all three cases are eliminated. 

The final arrangement is: 

 
Hence, the required answer is all of the 

above. 

5. Ans. E.  

Languages of the 6 speakers: Hindi, 

Spanish, French, English, Chinese & 

Arabic. 

Direction: South. 

1. The Spanish speaker is sitting at the 

extreme end, but not adjacent to the 

Hindi speaker. 

2. As we don’t know at which end the 

Spanish speaker is sitting, he can be 

either to the left or at the right end. 

So, there will be 2 cases. 

Case 1: 

 
Case 2: 

 
3. The person speaking Hindi is sitting 2nd 

to the right of the person speaking French 

but is not at the end. 

4. The person speaking Spanish is not 

adjacent to Hindi speaker. 

5. We don’t know the position of Hindi & 

French speaker. 

So, there will be further 2 sub- cases, for 

each main case. 

Case 1: 

Case 1(a) 

 
Case 1(b) 

 
Case 2: 

Case 2(a) 

 
Case 2(b) 

 
6. The person speaking English is sitting 

adjacent to the person speaking Hindi but 

not adjacent to the French speaker. 

Case 1(a) 

 
Case 1(b) 
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Case 2(a) 

 
Case 2(b) 

 
7. The Chinese speaker is 3rd to the left of 

the Arabic speaker, who is sitting at one 

of the ends. 

This is possible only in Case 2(a). So, 

remaining all three cases are eliminated. 

The final arrangement is: 

 
Hence, the required answer is English- 

Chinese. 

6. Ans. C.  

Students: Lavanya, Mounika, Nikhila, 

Omkar and Pavani 

1) Lavanya is smaller than only Mounika. 

Mounika > Lavanya > ___ > ___ > ___ 

2) Omkar is shorter than Nikhila. Omkar 

is taller than Pavani. 

Nikhila > Omkar > Pavani 

Combining: 

Mounika > Lavanya > Nikhila > Omkar > 

Pavani 

3) The height of the tallest student is 20 

feet. So, Mounika is 20 feet tall. 

4) The height of the second shortest 

student is 11 feet. So, Omkar is 11 feet 

tall. 

Omkar > Pavani 

Hence, the height of Pavani may be 9 

feet. 

7. Ans. A.  

Students: Lavanya, Mounika, Nikhila, 

Omkar and Pavani 

1) Lavanyaa is smaller than only 

Mounika. 

Mounika > Lavanya > ___ > ___ > ___ 

2) Omkar is shorter than Nikhila. Omkar 

is taller than Pavani. 

Nikhila > Omkar > Pavani 

Combining: 

Mounika > Lavanya > Nikhila > Omkar > 

Pavani 

3) The height of the tallest student is 20 

feet. So, Mounika is 20 feet tall. 

4) The height of the second shortest 

student is 11 feet. So, Omkar is 11 feet 

tall. 

The third tallest student is Nikhila. 

Mounika > Lavanya > Nikhila > Omkar > 

Pavani 

Hence, the height of Nikhila may be 13 

feet. 

8. Ans. C.  

Students: Lavanya, Mounika, Nikhila, 

Omkar and Pavani 

1) Student Lavanya is smaller than only 

Mounika. 

Mounika > Lavanya > ___ > ___ > ___ 

2) Omkar is shorter than Nikhila. Omkar 

is taller than Pavani. 

Nikhila > Omkar > Pavani 

Combining: 

Mounika > Lavanya > Nikhila > Omkar > 

Pavani 

3) The height of the tallest student is 20 

feet. So, Mounika is 20 feet tall. 

4) The height of the second shortest 

student is 11 feet. So, Omkar is 11 feet 

tall. 

Hence, Lavanya is second tallest student. 

9. Ans. E.  

The least possible Venn diagram for the 

given statements will be as shown: 

 
Conclusions: 

I. All tops being eggs is a possibility – 

Only few tops are eggs means some tops 

are eggs and some tops are not eggs. So, 

all tops can’t be eggs. Hence, the 

possibility is false. 

II. No ink is a top – It is possible but not 

definite in least possible Venn diagram. 

Hence, it is false. 

Hence, neither I nor II follows. 

10. Ans. D.  

The least possible Venn diagram for the 

given statements will be as shown: 
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Conclusions: 

I. All dogs can be balls – Only a few balls 

are dogs means some balls are dogs and 

some balls are not dogs. So, all balls can’t 

be dogs but all dogs can be balls. Hence, 

the possibility is true. 

II. Some balls are not pen – Some balls 

which are dogs can’t be pen. Hence, it is 

true. 

Hence, both I and II follows. 

11. Ans. E.  

The least possible Venn diagram for the 

given statements will be as shown: 

 
Conclusions: 

I. No bag is a van – It is possible but not 

definite in least possible Venn diagram. 

Hence, it is false. 

II. All vans are guns – Only few vans are 

guns means some vans are guns while 

some vans are not guns. Hence, It is 

false.  

Hence, neither I nor II follows. 

12. Ans. A.  

The least possible Venn diagram for the 

given statements will be as shown: 

 
Conclusions: 

I. Some hens can be bats – Some goats 

are not bats and all goats are hens. 

Hence, the possibility is true. 

II. 100% of bats are rats is a possibility – 

Given only few bats are rats means some 

bats are rats and some bats are not rats. 

Hence, the possibility is not true. 

Hence, only conclusion I follows. 

13. Ans. A.  

The least possible Venn diagram for the 

given statements will be as shown: 

 
Conclusions: 

I. All mugs are jugs – It is definite in least 

possible Venn diagram. Hence, it is true. 

II. Some jars are bells – It is possible but 

not definite in least possible Venn 

diagram. Hence, it is false. 

Hence, only conclusion I follows. 

14. Ans. D.  

1) G sits second to the left of E. 

2) Two persons are sitting between E and 

A. 

 
3) D is sitting between E and G. 

4) B sits third to the right of D. 

 
5) A is an immediate neighbor of both C 

and B. 

(Here, case 1 will be eliminated) 
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Therefore, option D is the answer. 

15. Ans. D.  

1) G sits second to the left of E. 

2) Two persons are sitting between E and 

A. 

 
3) D is sitting between E and G. 

4) B sits third to the right of D. 

 
5) A is an immediate neighbor of both C 

and B. 

(Here, case 1 will be eliminated) 

 
Therefore, option D is the correct answer. 

16. Ans. B.  

1) G sits second to the left of E. 

2) Two persons are sitting between E and 

A. 

 
3) D is sitting between E and G. 

4) B sits third to the right of D. 

 
5) A is an immediate neighbor of both C 

and B. 

(Here, case 1 will be eliminated) 

 
Therefore, option B is the correct answer. 

17. Ans. C.  

1) G sits second to the left of E. 

2) Two persons are sitting between E and 

A. 

 
3) D is sitting between E and G. 
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4) B sits third to the right of D. 

 
5) A is an immediate neighbor of both C 

and B. 

(Here, case 1 will be eliminated) 

 
Therefore, option C is the answer. 

18. Ans. C.  

1) G sits second to the left of E. 

2) Two persons are sitting between E and 

A. 

 
3) D is sitting between E and G. 

4) B sits third to the right of D. 

 

5) A is an immediate neighbor of both C 

and B. 

(Here, case 1 will be eliminated) 

 
Therefore, option C is the correct answer. 

19. Ans. B.  

The positions of each point are shown in 

the figure: 

 
Clearly, point C is to the south-east of 

point A. 

20. Ans. A.  

All the letters are arranged alphabetically 

from the right to the left and then each 

letter is moved one space forward in the 

English alphabet. 

So, ZSOJEDBB = RADIANCY 

Therefore, option A is the correct answer. 

21. Ans. B.  

The family tree is shown in the figure: 

 
Clearly, A is B’s daughter. 

22. Ans. D.  

In this question, we show that – 

3 * 2 * 1 = 273 is operated as cube of 

first number and second and third 

number is added. 

Cube of first number is (33) = 27 & 

addition of second and third number are 

(2 + 1) = 3. 

Similarly, 

2 * 5 * 4 = 89 

Then 4 * 7 * 9 = 6416 

So 6416 is the correct answer. 

So correct answer is option D. 
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23. Ans. D.  

1) No box is placed below Z, which is 

placed four places below X. 

2) Two boxes are placed between X and 

F. 

 
3) Box D is placed below B but above box, 

M. 

4) Box B is not at the top. 

 
5) Box G is placed above M. 

 
Therefore, option D is the correct answer. 

24. Ans. A.  

1) No box is placed below Z, which is 

placed four places below X. 

2) Two boxes are placed between X and 

F. 

 

3) Box D is placed below B but above box, 

M. 

4) Box B is not at the top. 

 
5) Box G is placed above M. 

 
Therefore, option A is the correct answer. 

25. Ans. D.  

1) No box is placed below Z, which is 

placed four places below X. 

2) Two boxes are placed between X and 

F. 

 
3) Box D is placed below B but above box, 

M. 

4) Box B is not at the top. 

 
5) Box G is placed above M. 
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Therefore, option D is the correct answer. 

26. Ans. D.  

1) No box is placed below Z, which is 

placed four places below X. 

2) Two boxes are placed between X and 

F. 

 
3) Box D is placed below B but above box, 

M. 

4) Box B is not at the top. 

 
5) Box G is placed above M. 

 
Therefore, option D is the correct answer. 

27. Ans. B.  

1) No box is placed below Z, which is 

placed four places below X. 

2) Two boxes are placed between X and 

F. 

 
3) Box D is placed below B but above box, 

M. 

4) Box B is not at the top. 

 
5) Box G is placed above M. 

 
Therefore, option B is the correct answer. 

28. Ans. E.  

Putting ‘>’ in the place of ‘?’ we get, 

Statement: C > L ≥ O = U ? E; M < D < 

E 

On combining: C > L ≥ O = U > E > D > 

M 

M < C → Definitely True 
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Putting ‘=’ in the place of ‘?’ we get, 

Statement: C > L ≥ O = U ? E; M < D < 

E 

On combining: C > L ≥ O = U = E > D > 

M 

M < C → Definitely True 

Putting ‘≥’ in the place of ‘?’ we get, 

Statement: C > L ≥ O = U ? E; M < D < 

E 

On combining: C > L ≥ O = U ≥ E > D > 

M 

M < C → Definitely True 

29. Ans. D.  

D > B, not true (as D < A ≤ B). 

E > B, not true (as E = A ≤ B). 

Therefore, both the conclusions does not 

follow. 

30. Ans. E.  

2 ≥ 4, true ( as 2 ≥ 3 = 4) 

5 < 2, true (as 2 ≥ 3 = 4 > 5). 

Therefore, both the conclusions follow. 

31. Ans. A.  

8 Persons: I, J, K, L, M, N, O and P. 

8 Degrees: BBA, MBA, MSc, BSc, M. Tech, 

B. Tech, LLB and M. Com. 

8 Colors: Red, Blue, Yellow, Brown, 

Peach, Pink, Green and Orange. 

1) K neither likes Brown nor Blue. 

2) The person who has a BTech degree 

likes Blue. 

3) L has an M. Com degree but does not 

like Red. 

4) P doesn’t have a BSc degree but likes 

Green. 

 
5) Either I or N has an LLB degree. 

6) I and J neither like Brown nor Blue. 

7) M doesn’t have a B. Tech degree. 

8) N likes Orange. 

 
Thus, O has a BTech degree and likes 

Blue. 

 
9) The person who has an MBA degree 

likes Yellow. 

10) The person who has a BBA degree 

likes Brown. 

Thus, M likes Brown and has a BBA 

degree. 

 
11) Neither K nor L likes Peach. 

12) P doesn’t have a M. Tech degree. 

13) J neither has a BSc degree nor likes 

Yellow. 

14) K doesn’t like Yellow. 
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Thus, I has an MBA degree and likes 

Yellow. 

N has an LLB degree. 

 
Thus, final table is as follows: 

 
Hence, K likes Red color. 

32. Ans. C.  

8 Persons: I, J, K, L, M, N, O and P. 

8 Degrees: BBA, MBA, MSc, BSc, M. Tech, 

B. Tech, LLB and M. Com. 

8 Colors: Red, Blue, Yellow, Brown, 

Peach, Pink, Green and Orange. 

1) K neither likes Brown nor Blue. 

2) The person who has a BTech degree 

likes Blue. 

3) L has an M. Com degree but does not 

like Red. 

4) P doesn’t have a BSc degree but likes 

Green. 

 
5) Either I or N has an LLB degree. 

6) I and J neither like Brown nor Blue. 

7) M doesn’t have a B. Tech degree. 

8) N likes Orange. 

 
Thus, O has a BTech degree and likes 

Blue. 

 
9) The person who has an MBA degree 

likes Yellow. 

10) The person who has a BBA degree 

likes Brown. 

Thus, M likes Brown and has a BBA 

degree. 

 
11) Neither K nor L likes Peach. 

12) P doesn’t have a M. Tech degree. 

13) J neither has a BSc degree nor likes 

Yellow. 

14) K doesn’t like Yellow. 

 
Thus, I has an MBA degree and likes 

Yellow. 

N has an LLB degree. 
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Thus, final table is as follows: 

 
Hence, I has an MBA degree. 

33. Ans. B.  

8 Persons: I, J, K, L, M, N, O and P. 

8 Degrees: BBA, MBA, MSc, BSc, M. Tech, 

B. Tech, LLB and M. Com. 

8 Colors: Red, Blue, Yellow, Brown, 

Peach, Pink, Green and Orange. 

1) K neither likes Brown nor Blue. 

2) The person who has a BTech degree 

likes Blue. 

3) L has an M. Com degree but does not 

like Red. 

4) P doesn’t have a BSc degree but likes 

Green. 

 
5) Either I or N has an LLB degree. 

6) I and J neither like Brown nor Blue. 

7) M doesn’t have a B. Tech degree. 

8) N likes Orange. 

 
Thus, O has a BTech degree and likes 

Blue. 

 
9) The person who has an MBA degree 

likes Yellow. 

10) The person who has a BBA degree 

likes Brown. 

Thus, M likes Brown and has a BBA 

degree. 

 
11) Neither K nor L likes Peach. 

12) P doesn’t have a M. Tech degree. 

13) J neither has a BSc degree nor likes 

Yellow. 

14) K doesn’t like Yellow. 

 
Thus, I has an MBA degree and likes 

Yellow. 

N has an LLB degree. 

 
Thus, final table is as follows: 
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Hence, the person who has an M. Tech 

degree likes Peach colour. 

34. Ans. E.  

8 Persons: I, J, K, L, M, N, O and P. 

8 Degrees: BBA, MBA, MSc, BSc, M. Tech, 

B. Tech, LLB and M. Com. 

8 Colors: Red, Blue, Yellow, Brown, 

Peach, Pink, Green and Orange. 

1) K neither likes Brown nor Blue. 

2) The person who has a BTech degree 

likes Blue. 

3) L has an M. Com degree but does not 

like Red. 

4) P doesn’t have a BSc degree but likes 

Green. 

 
5) Either I or N has an LLB degree. 

6) I and J neither like Brown nor Blue. 

7) M doesn’t have a B. Tech degree. 

8) N likes Orange. 

 
Thus, O has a BTech degree and likes 

Blue. 

 
9) The person who has an MBA degree 

likes Yellow. 

10) The person who has a BBA degree 

likes Brown. 

Thus, M likes Brown and has a BBA 

degree. 

 
11) Neither K nor L likes Peach. 

12) P doesn’t have a M. Tech degree. 

13) J neither has a BSc degree nor likes 

Yellow. 

14) K doesn’t like Yellow. 

 
Thus, I has an MBA degree and likes 

Yellow. 

N has an LLB degree. 
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Thus, final table is as follows: 

 
Hence, P has MSc degree. 

35. Ans. D.  

8 Persons: I, J, K, L, M, N, O and P. 

8 Degrees: BBA, MBA, MSc, BSc, M. Tech, 

B. Tech, LLB and M. Com. 

8 Colors: Red, Blue, Yellow, Brown, 

Peach, Pink, Green and Orange. 

1) K neither likes Brown nor Blue. 

2) The person who has a BTech degree 

likes Blue. 

3) L has an M. Com degree but does not 

like Red. 

4) P doesn’t have a BSc degree but likes 

Green. 

 
5) Either I or N has an LLB degree. 

6) I and J neither like Brown nor Blue. 

7) M doesn’t have a B. Tech degree. 

8) N likes Orange. 

 

Thus, O has a BTech degree and likes 

Blue. 

 
9) The person who has an MBA degree 

likes Yellow. 

10) The person who has a BBA degree 

likes Brown. 

Thus, M likes Brown and has a BBA 

degree. 

 
11) Neither K nor L likes Peach. 

12) P doesn’t have a M. Tech degree. 

13) J neither has a BSc degree nor likes 

Yellow. 

14) K doesn’t like Yellow. 

 
Thus, I has an MBA degree and likes 

Yellow. 

N has an LLB degree. 
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Thus, final table is as follows: 

 
Hence, the statement “M has a BBA 

degree” is true. 

36. Ans. B.  

74163-4441-?-20+520=69794 

(74163+520)-(4441+?+20)=69794 

74683-69794=(4441+?+20) 

4889=?+4461 

?=4889-4461 

?=428 

Hence, option B is correct. 

37. Ans. B.  

 = ? ÷ 8 

? =  =  = 4 

38. Ans. D.  

9  × 94 ÷ 9? = 99 

⇒ 91.5 × 94 ÷ 9? = 99 

⇒91.5 + 4 –? = 99 

compare powers of both sides 

⇒ 1.5 + 4 – ? = 9 

⇒ ? = 5.5 – 9 = –3.5 

39. Ans. B.  

? – (0.9)2 = (0.8)2÷ 0.40 

? =  + 0.81 =  + 0.81 = 1.6 + 0.81 

= 2.41 

40. Ans. C.  

 of 11325+980=(?)²+436 

11325+980=(?)²+436 

+980=(?)²+436 

10040-436=(?)² 

?²=9604 

?=98 

Hence, option C is correct. 

41. Ans. E.  

48% of 550 – 40 ÷ 0.5 = ? 

? = × 550 –  

? = 264 – 80 = 184 

42. Ans. E.  

45% of 260 –  = ? – 36% of 125 

⇒ 117 – 8 = ? – 45 

⇒ ? = 109 + 45 = 154 

43. Ans. A.  

(525×24)÷4+50=?×225÷45 

525×6+50=?×5 

3150+50=?×5 

3200=?×5 

?=  

?=640 

Hence, option A is correct. 

44. Ans. D.  

 = 27 

 = 27 

? = 750 – (27)2 

? = 750 – 729 = 21 

45. Ans. A.  

[(132)÷16×32)]÷?=24 

÷?=24 

264÷?=24 

?=  

?=11 

Hence, option A is correct. 

46. Ans. B.  

The pattern of the series is: 

5 + 3 × 2 = 11 

11 + 3 × 3 = 20 

20 + 3 × 4 = 32 

32 + 3 × 5 = 47 

47 + 3 × 6 = 65 

65 + 3 × 7 = 86 

47. Ans. D.  

The pattern of the series is: 

4 + 6 × 1 = 10 
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10 + 6 × 2 = 22 

22 + 6 × 4 = 46 

46 + 6 × 8 = 94 

94 + 6 × 16 = 190 

190 + 6 × 32 = 382 

48. Ans. E.  

The pattern of the series is: 

3 × 2 + 1 = 7 

7 × 2 – 1 = 13 

13 × 2 + 1 = 27 

27 × 2 – 1 = 53 

53 × 2 + 1 = 107 

107 × 2 – 1 = 213 

49. Ans. C.  

The pattern of the series is: 

7 + 22 = 11 

11 + 23 = 19 

19 + 24 = 35 

35 + 25 = 67 

67 + 26 = 131 

131 + 27 = 259 

50. Ans. C.  

The Pattern is:- 

 

 

 

 

 

 
Thus, the missing number is 122 

So option (c) is the correct answer. 

51. Ans. C.  

The production of company T in the 

months of November = 180 lakh 

The total production of company T in the 

months of October =  = 150 lakh 

Hence, the required answer = 180 + 150 

= 330 lakh 

52. Ans. A.  

The total production of P and Q in 

November = 240 + 200 = 440 lakh 

The total production of Q and S in 

December = 120 + 180 = 300 lakh 

Hence, the required ratio = 440 : 300 = 

22 : 15. 

53. Ans. E.  

The production of X in November = 160 

+ 20% of 160 = 160 + 32 = 192 lakh 

Hence, the required average production 

=  = 176 lakh. 

54. Ans. D.  

The total production of P in given two 

months = 240 + 250 = 490 lakh 

The total production of S in given two 

months = 220 + 180 = 400 lakh 

Hence, the required percentage = 

× 100 = 22.5%. 

55. Ans. A.  

The production of S in month of January 

2019 = 180 + 30% of 180 = 234 lakh 

The production of T in month of January 

2019 = 120 + 62.5% of 120 = 195 lakh 

Hence, the required ratio = 234 : 195 = 

6 : 5. 

56. Ans. A.  

Upstream speed of boat= 60/5= 12 

km/hr 

Downstream speed of baot= 60/4=15 

km/hr 

speed of stream= (downstream speed-

upsteam speed)/2 

Speed of stream= (15-12)/2= 1.5 km/hr 

57. Ans. D.  

Let the hypotenuse be 25x and 

perpendicular side be 24x. 

A.T.Q, 

(49 + 576x2)1/2 = 25x 

49 + 576x2 = 625 x2 

49x2 = 49 

x = 1 

Perpendicular side is 24 and hypotenuse 

is 25 

Area =  × base × height 

=  × 24 × 7 

= 84 m2 

58. Ans. B.  

Speed of car A =624/12 =52 kmph 

Time taken by car B = 12 hr – 4 = 8 hr 

Speed of car B =624/8=78 kmph 

Distance covered by car A in 2 hrs =  

= 52 × 3 = 156 km 

Distance covered by car B in 2 hrs =  

= 78 × 3 = 234 km 

So the required difference id 234 KM - 

156 km = i. e. 78 km 
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59. Ans. C.  

Let the initial mixture in the solution is x 

litres. 

When 30 l mixture is taken out then new 

quantity of milk in the flask is = 

 –(  × 30) 

New quantity of water in the flask =  –

(  × 30) 

A.T.Q, 

 =  

5(  – 8) = 4(  – 18) 

On solving this we get, 

x = 80 litres 

60. Ans. A.  

Let, the amount of work done by Aman 

alone in one day = x units 

So, the amount of work done by Chaman 

alone in one day = 1.5x 

So, the total work =42×(x+1.5x)=105x 

Time taken by Chaman to complete the 

work alone =105x/1.5x= 70 days 

61. Ans. D.  

= 11.99 + 35.89 × 5.99 + √145 

= 12 + 36 × 6 + √144 

= 12 + 216 + 12 

= 240 

62. Ans. A.  

√1224 + √624 = √? × 4.99 

√1225 + √625 = √? × 5 

35 + 25 = √? × 5 

12 = √? 

? = 144 

63. Ans. B.  

= (118.87 + 97.13) ÷ 35.85 + √80 

= (119 + 97) ÷ 36 + √81 

= 216 ÷ 36 + 9 

= 6 + 9 

= 15 

64. Ans. A.  

(√624 + ?)2 = 575.76 × 224.89 

(√625 + ?)2 = 576 × 225 

(25 + ?) = 24 × 15 

? = 360 – 25 

? = 335 

65. Ans. B.  

(5.19)3 + (6.05)3 – (7.13)2 – (4.05)3 + 

(2.15)3 – 10.99 = ?2 

(5)3 + (6)3 – (7)2 – (4)3 + (2)3 – 11 = ?2 

125 + 216 – 49 – 64 + 8 – 11 = ?2 

349 – 124 = ?2 

? = 15 

66. Ans. A.  

Total length of train A & train C= 12 × 

(16+10) = 312 m 

Length of train C= 312- 140= 172 m 

67. Ans. B.  

Let the cost price of the watch is X Rs. 

After selling it at Rs. 1800, loss is 10% 

Loss = Cost price – selling price 

Loss percentage = 10 = 

 

 

 
X = 2000 

Cost price is = 2000 Rs. 

Now to make profit of 10%, suppose the 

person need to sell the watch at Y Rs. 

 
Y = 2000+200 = 2200 Rs. 

Hence, the person should sell the watch 

at 2200 Rs. 

Option (b) is correct. 

Alternative Method: 

Let us say the CP is 100% 

Selling at 10% loss means, at 90% of CP 

is = 1800 Rs. 

On selling it at 10% profit means, at 

110% of CP is = (1800/90)*110 = 2200 

Rs. 

68. Ans. A.  

Let the length of the rectangle and 

breadth of rectangle be 89x and 54x. 

Perimeter of rectangular field = 2(length 

+ breadth) 

Cost = 15 × 2(89x + 54x) 

4290 = 30 × 143x 

143x = 143 

x = 1 

Therefore, length of rectangle = 89 cm 

and breadth of rectangle = 54 cm 

Area of rectangle = 4806 cm2 

69. Ans. D.  
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Difference between CI and SI = 

(PR2)/10000 

18 = (1800 R2)/10000 

R2 = 100 

R = 10% 

Required answer= 1800(1 + )3 – 

1800 

= 2395.8 – 1800 

= Rs. 595.8 

70. Ans. A.  

Sum of the ages of all the students in the 

class = 23 ×19=437 years 

Sum of the ages of students along with 

class teacher = 24 × 21= 504 year 

So, the age of the teacher =504-437= 67 

year 

71. Ans. D.  

DEPARTURE means “the action of leaving, 

especially to start a journey”. Birbal was 

leaving from Persia. Hence Option D is 

correct. 

72. Ans. A.  

The nobleman asked Birbal how he would 

compare the king of Persia to his own 

king. Hence Option A is correct. 

73. Ans. E.  

THOUGHT means an idea or opinion 

produced by thinking. Birbal said that the 

nobleman’s king is the full moon whereas 

his king can be THOUGHT of as the 

quarter of the moon. Hence Option E is 

correct. 

74. Ans. B.  

The helping verb COULD is used to show 

the past tense of ‘can’. Hence Option B is 

correct 

75. Ans. C.  

Birbal convinced Akbar that he compared 

him with the quarter of the moon because 

the full moon disappears and 

DIMINISHES in size that is reduced in size 

whereas the quarter moon grows with 

strength. Hence Option C is correct.  

76. Ans. A.  

PROCLAIMED means “to announce 

officially or publicly”. Birbal had publicly 

made people know of Akbar's power. 

Hence Option A is correct according to the 

context of the passage. 

77. Ans. C.  

Birbal convinced Akbar that his power is 

GROWING day by day just like a shining 

moon. Also, the sentence uses the word 

"whereas" which means that a contrast is 

given with respect to the other kind who 

is seeing a decline. Hence Option C is 

correct 

78. Ans. B.  

Akbar greeted Birbal GIVING him a warm 

welcome. Akbar embraced Birbal, 

meaning to say that he gave him a hug. 

Hence Option B is correct. 

79. Ans. D.  

"Pride" means a feeling of deep pleasure 

or satisfaction derived from one's own 

achievements, the achievements of one's 

close associates, or from qualities or 

possessions that are widely admired. It is 

a noun form, while the statement 

requires an adjective form to make 

sense; so, 'proud' is a more appropriate 

response. 

80. Ans. C.  

Here, the context is of explaining the 

qualities of the noun 'behaviour'. Out of 

the five given options, only 'good' can be 

used for this particular noun. The word 

'Best' cannot be used as it is in the 

superlative degree and any such word 

must be preceded by the article "the", 

which is not the case here. 

81. Ans. C.  

The blank should be filled by the first form 

of the verb to suit the structure of the 

statement. This leaves us with three 

options, A, C and D. Options A and D fail 

to make sense in the context of the 

statement as 'talking fast' is not likely to 

help in reaching in time; also 'journey' is 

not suitable in the context of the 

statement. 

82. Ans. C.  

Into is used to indicate movement 

toward the inside of a place. 

With is used to express a quality or a 

possession. 

In is a definitive and specific description 

of an object’s location.  

Within describes an estimation. 

‘In’ almost always refers to being inside 

with finality while ‘within’ requires 

parameters to be accurate.  

Hence, in is the correct answer.  

83. Ans. D.  
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The contextual meaning of the blank 

makes it possible that either option A or 

option D be filled into the blank.  

"Judgement" means the ability to make 

considered decisions or come to sensible 

conclusions. 

"Consensus" means a general 

agreement. 

The blank is followed by 'regarding an 

employee', thus the correct pick out of 

the two is option D, as 'judgement' will 

factually render the statement 

inappropriate. 

Hence, "consensus" is the correct answer. 

84. Ans. D.  

The error is in word at C, which means 

the word ‘attraction’ has been wrongly 

used here. Note that the word after 

‘attraction’ is a noun, whereas we need 

an adjective to modify a noun. Hence, 

‘attractive’ should replace the highlighted 

word mentioned in C to make the 

statement grammatically correct and 

contextually meaningful. 

Therefore, option D is the correct answer. 

85. Ans. B.  

The use of the word ‘cater’ in 

inappropriate, as it is a verb whereas a 

noun is required to act as an object to the 

verb 'provide'. The context of the 

sentence implies that the main objective 

of medical education is to provide experts 

who can take care of health needs of the 

country. The word ‘cater’ (means to 

provide and sometimes serve food) does 

not fit in contextually and must be 

replaced with ‘cadre’ (means a small 

group of trained people who form the 

basic unit of a military, political or a 

business organisation). Thus, the word at 

C needs to be changed making option B, 

the correct answer. 

86. Ans. B.  

The bold word given in A ‘region’ is a noun 

and has been wrongly used here. We 

need an adjective to modify a noun ‘trade 

partnership’. So, ‘regional’ must replace 

the highlighted word ‘region’. Hence, 

option B is the correct answer. 

87. Ans. B.  

The spelling of the word mentioned at (C) 

is incorrect. The correct spelling is 

“sovereignty” which means supreme 

power or authority. 

88. Ans. C.  

The word ‘lucrate’ is incorrect here as the 

word is not a standard word in the English 

language. The expansion of rule-based 

trade and investment would open up 

huge profits in new markets. So, the word 

‘lucrative’ (producing a great deal of 

profit) will make the statement 

meaningful. Hence, option C is the correct 

answer. 

89. Ans. E.  

All the parts of the given statement are 

correct. 

90. Ans. B.  

The error lies in the second part of the 

sentence. Use the preposition "into" 

instead of "in". With divided, the 

preposition "into" is used. 

91. Ans. B.  

The error lies in the second part of the 

sentence. 

'Qualms' means an uneasy feeling of 

doubt, worry, or fear, especially about 

one's own conduct; a misgiving. 

Grammatically, the preposition 'about' 

should follow instead of 'on'. 

92. Ans. D.  

The error is in the fourth part. The 

phrase ‘between all his team members’ 

should be replaced by ‘among all his 

team members' as there are multiple 

people. The preposition ‘between’ has 

been wrongly used here. Thus option D 

is correct. 

93. Ans. B.  

The error is in the second part of the 

sentence. 

Substitute ‘at’ with ‘in’. 

'At' is used to define a point roughly 

around the given location. 

'In' is used to define something being 

within the confines of a given location. 

Here the context is of residence and 

hence 'in' is more suitable. 

94. Ans. D.  

Please refer to 5th and 6th sentences of 

first paragraph. 

".... It was their son's second birthday 

and they sent two delicious laddoos to the 

old couple. The couple ate the laddoos 

with great relish....." 
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95. Ans. B.  

Please refer to 2nd and 3rd sentences of 

first paragraph. 

".... They did not have any children and 

never spent an extra paisa on 

themselves. They never repaired their 

house or cooked good food......" 

96. Ans. A.  

After reading the passage, we can 

conclude that only option (A) is correct. 

97. Ans. D.  

Bewilder means to cause (someone) to 

become perplexed and confused. 

Baffle means totally bewilder or perplex. 

So, D is the correct answer. 

98. Ans. A.  

The meaning of word still (adjective) as 

used in the passage is not moving, calm 

& quiet. 

The word when used as an adverb means 

nevertheless or however.  

Look at the sentence: 

The kids found it hard still stay. 

Hence the words still and restless are 

antonymous because the word restless 

means: unable to stay still or be happy 

where you are disturbed. 

99. Ans. A.  

As the man lay on the pyre and it was lit, 

he could feel the heat of the flame over 

his feet. Owing to this, he jumped off the 

pyre. The phrase majorly symbolizes that 

he could slightly feel the heat of the fir 

that was lit on his feet. 

100. Ans. B.  

The meaning of the word Share (Noun) as 

used in the passage is; portion, one part 

of something that is divided between two 

or more people. 

Look at the sentence: 

How much was your share in the profit? 

Hence, the words Share and part are 

synonymous. 

101. Ans. B.  

छत्रपनत‍लशर्ाजी‍मराठा‍साम्राज्य‍के‍संस्र्ापक‍रे्‍ l 
10 अप्रैि,सि‍1627 म़ें‍ लशर्िेरी‍ के‍दगुव‍म़ें‍जन्म‍े
लशर्ाजी‍ की‍ हहन्द‍ू र्मव‍ म़ें‍ अटूट‍आस्र्ा‍ र्ी‍ l र्े‍
मािर्ता‍तर्ा‍मािर्‍मूल्यों‍को‍पूणव‍प्रार्लमकता‍देते‍
रे्‍l र्े‍एक‍सच्चे‍देशि‍त‍रे्‍l लशर्ाजी‍के‍वपता‍श्ी‍

शाहजी‍िोंसिे‍एक‍बडे़‍जागीरदार‍रे्‍l र्‍ेबीजापुर‍के‍
महाराज‍के‍प्रमुि‍रे्‍l 
102. Ans. A.  
लशर्ाजी‍के‍जन्म‍के‍बाद‍शाहजी‍िे‍दसूरा‍वर्र्ाह‍कर‍
ककया‍तो‍लशर्ाजी‍की‍माता‍जीजाबाई‍लशर्िेरी‍स‍ेपुि‍
आ‍गईं‍ l लशर्ाजी‍ के‍चाररबत्रक‍ निमावण‍म़ें‍ उिकी‍
माता‍जीजाबाई‍का‍वर्शेष‍योगदाि‍र्ा‍l र्ह‍अत्यंत‍
र्ालमवक‍ वर्चारों‍ की‍ महहिा‍ र्ीं‍ क्जसके‍ फिस्र्रूप‍
लशर्ाजी‍म़ें‍िी‍र्ालमवक‍सहहष्णुता‍का‍िार्‍उत्पन्ि‍
हुआ‍l र्े‍सिी‍श्मों‍का‍समाि‍िार्‍से‍आदर‍करते‍
रे् 
103. Ans. D.  
उस‍समय‍म़ें‍िारत‍मुगिों‍के‍अर्ीि‍र्ा‍ l मुगि‍
शासकों‍द्र्ारा‍ हहन्दओंु‍पर‍ ककये‍गये‍अत्याचार‍र्‍
िेदिार्‍को‍देिकर‍र्े‍िुब्र्‍रे्‍l हहन्दओंु‍को‍अपिे‍
र्मव‍ के‍ कारण‍ एक‍ वर्शेष‍ कर‍ देिा‍ होता‍ र्ा‍जो‍
जक्जया‍कर‍कहिाता‍र्ा‍l अपिी‍ही‍र्रती‍पर‍अपिे‍
ही‍िोगों‍के‍प्रनत‍अन्याय‍को‍देिकर‍उसे‍सहि‍कर‍
जािा‍उिके‍स्र्िार्‍म़ें‍िहीं‍र्ा‍l 
104. Ans. C.  
अत:‍ उन्होंिे‍ मुगिों‍ को‍ उिड‍ फ़ें किे‍ का‍ संकल्प‍
ककया‍l इस‍उद्देश्य‍की‍पूनतव‍के‍लिए‍उन्होंिे‍अपिी‍
सेिा‍ का‍ गठि‍ ककया‍ l उन्होंिे‍ वर्शाि‍ सेिा‍ पर‍
आक्रमण‍ का‍ िया‍ रास्ता‍ िोजा‍ l उन्होंिे‍ अपिे‍
सैनिकों‍को‍गुररल्िा(छापामार)‍युद्र्‍के‍लिए‍तैयार‍
ककया‍क्जससे‍उन्ह़ें‍युद्र्‍म़ें‍कम‍से‍कम‍हानि‍हो‍l 
लशर्ाजी‍युद्र्‍वर्द्या‍म़ें‍पारंगत‍रे्‍l 
105. Ans. E.  
उन्होंिे‍अपिे‍वर्जय‍अलियाि‍की‍शुरुआत‍कुछ‍छोटे‍
ककिों‍तर्ा‍बीजापुर‍राज्य‍के‍कुछ‍प्रदेशों‍पर‍वर्जय‍
प्राप्त‍करके‍की‍l उिके‍बढते‍प्रिार्‍स‍ेबीजापुर‍का‍
राजा‍आतंककत‍हुआ‍ l लशर्ाजी‍को‍पकड़िे‍के‍लिए‍
उसिे‍कई‍प्रयास‍ककये‍परन्तु‍असफि‍रहा‍l 
106. Ans. A.  
अंत‍ म़ें‍ उसिे‍ कुटिीनतक‍ चाि‍ चिी‍ तर्ा‍ अपिे‍
सेिाध्यि‍ अफजि‍ िां‍ को‍ लशर्ाजी‍ के‍ पास‍ एक‍
व्यक्‍तगत‍मुिाकात‍के‍लिए‍िेजा‍l उसका‍उद्देश्य‍
लशर्ाजी‍को‍र्ोिे‍से‍ित्म‍करिा‍र्ा‍परन्तु‍लशर्ाजी‍
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उिकी‍इस‍चाि‍को‍समझ‍गये‍ l उन्होंिे‍अफजि‍
िां‍को‍ित्म‍कर‍हदया‍l इसके‍पश्चात‍बीजापुर‍की‍
सेिा‍को‍िी‍िारी‍िनत‍उठािी‍पड़ी‍क्जसके‍फिस्र्रूप‍
बीजापुर‍के‍राजा‍को‍उिसे‍शानंत‍संर्र्‍करिी‍पड़ी‍l 
107. Ans. B.  
तत्कािीि‍मुगि‍शासक‍औरंगजेब‍उिके‍बढते‍प्रिार्‍
से‍ियिीत‍हो‍उठा‍l उसिे‍लशर्ाजी‍को‍बंदी‍बिािे‍
के‍लिए‍अपिे‍सेिाध्यि‍और‍अिेक‍सेिािायकों‍को‍
िेजा‍परन्तु‍उि‍सिी‍को‍मुंह‍की‍िािी‍पड़ी‍l लशर्ाजी‍
की‍गुररल्िा‍तकिीक‍के‍सम्मुि‍र्े‍हटक‍िहीं‍सके‍
अंतत:‍औरन्जेब‍ िे‍उन्ह़ें‍र्ोिे‍से‍ बंदी‍बिा‍ लिया‍
परन्तु‍र्ह‍अर्र्क‍हदि‍तक‍उन्ह़ें‍कैद‍म़ें‍िहीं‍रि‍
सका‍ l अपिी‍चतुराई‍से‍र्े‍उसकी‍कैद‍से‍ निकि‍
सकिे‍म़ें‍समर्व‍रहे‍l 
108. Ans. C.  
औरंगजेब‍ की‍ कैद‍ से‍ निकििे‍ के‍ उपरांत‍ उन्होंिे‍
मुगि‍शासक‍से‍पूणव‍युद्र्‍के‍लिए‍अपिी‍सेिा‍को‍
तैयार‍ककया‍ l र्े‍सिी‍ककिे‍क्जि‍पर‍औरंगजेब‍िे‍
अपिा‍आर्र्पत्य‍जमा‍लिया‍र्ा‍र्े‍सिी‍पुि:उन्होंिे‍
जीत‍लिए‍l सि‍1674 ई.म़ें‍र्े‍रायगढ‍के‍राजा‍बि‍े
और‍उिका‍वर्र्र्र्त‍राज्यलिषेक‍हुआ‍ l इस‍प्रकार‍
लशर्ाजी‍िे‍िबंे‍अन्तराि‍के‍बाद‍‘हहन्द-ूपद-पादशाही’‍
की‍स्र्ापिा‍की‍l 
109. Ans. D.  
छत्रपनत‍ लशर्ाजी‍एक‍साहसी‍एर्ं‍र्ीर‍योद्र्ा‍ रे्‍ l 
यह‍उिकी‍साहस‍र्ीरता‍और‍कुशाग्रता‍के‍गुण‍ही‍
रे्‍क्जससे‍उन्होंिे‍ वर्शाि‍मगुि‍सेिा‍से‍िी‍युद्र्‍
करिे‍का‍साहस‍ककया‍l र्‍ेव्यक्‍तगत‍रूप‍स‍ेसत्य‍
और‍सिी‍मािर्‍मूल्यों‍पर‍पणूव‍आस्र्ा‍रिते‍रे्‍l 
110. Ans. E.  
युद्र्‍म़ें‍यहद‍दशु्मि‍की‍महहिा‍बंदी‍बिाई‍जाती‍र्ी‍
तो‍ उिकी‍आज्ञा‍र्ी‍ कक‍उन्ह़ें‍सम्मािपूर्वक‍र्ापस‍
िेजा‍जाये‍ l र्े‍सिी‍र्मों‍का‍सम्माि‍करते‍ रे्‍ l 
माता‍जीजाबाई‍की‍सादगी‍तर्ा‍पािि-पोषण‍िे‍उिम‍े
चाररबत्रक‍दृढता‍प्रदाि‍की, वर्देलशयों‍को‍देश‍से‍बाहर‍
निकििे‍का‍उिका‍प्रयास‍िारतर्ासी‍किी‍िुिा‍िहीं‍
सक़ें गे‍l 
111. Ans. D.  

महािारत‍का‍युद्र्‍कुरूिेत्र‍के‍मैदाि‍म़ें‍िड़ा‍गया‍
र्ा।‍ अत:‍ वर्कल्प‍ (4) ‘कुरूिेत्र‘‍ सही‍ है।‍ अन्य‍
वर्कल्प‍निरर्वक‍हैं। 
112. Ans. A.  
दोिों‍पिों‍म़ें‍सहमनत‍हुई‍र्ी‍कक‍सफिता‍लमिे‍या‍
ि‍ लमिे-हमिोग‍कुमागव‍का‍रास्ता‍िहीं‍अपिाएंगे।‍
अत:‍वर्कल्प‍(1) ‘कुमागव’‍होगा।‍अन्य‍वर्कल्पों‍का‍
कोई‍और्चत्य‍िहीं‍हैं। 
113. Ans. D.  
अलिमन्यु‍की‍हत्या‍शाप, श्ाप‍और‍बि‍से‍िहीं‍की‍
गई‍र्ी-‍बक्ल्क‍पाप‍से‍की‍गई‍र्ी।‍पंक्‍त‍के‍अिुसार‍
‘पाप’‍शब्द‍का‍चयि‍उपयु‍त‍हैं‍अत:‍वर्कल्प‍(4) 
‘पाप’‍सही‍है। 
114. Ans. B.  
यहााँ‍पर‍ ‘हहसंा’‍शब्द‍का‍प्रयोग‍ ककया‍गया‍ है‍जो‍
उर्चत‍ है, ‍योंकक‍ हहसंा‍का‍आहद, मध्य‍और‍अंत‍
तीिों‍अर्मव‍ है।‍अत:‍ वर्कल्प‍ (2) ‘हहसंा’‍सही‍ है।‍
अन्य‍वर्कल्प‍अिार्श्यक‍है। 
115. Ans. D.  
यहााँ‍पर‍ वर्कल्प‍(a) ईमािदारी, (b) हैलसयत, (c) 
इच्छा‍ निरर्वक‍ हैं।‍अत:‍ वर्कल्प‍ ‘कत्तवव्य’‍सही‍ है।‍
पंक्‍त‍के‍अिुसार, मिुष्य‍स्र्ार्वर्श‍अपिे‍कत्तवव्य‍को‍
िूि‍जाता‍है।‍इसलिए‍कत्तवव्य‍शब्द‍का‍प्रयोग‍ककया‍
गया‍है। 
116. Ans. A.  
जि‍ म़ें‍ आर्श्यकता‍ से‍ अर्र्क‍ िनिज‍ िर्ण, 
काबवनिक‍ तर्ा‍ अकाबवनिक‍ पदार्व‍ तर्ा‍ और्ोर्गक‍
संयंत्रों‍से‍निकिे‍रासायनिक‍पदार्व, अपलशष्ट‍पदार्व‍
का‍ मतृ‍ जंतु, िहदयों, झीिों, सागरों‍ तर्ा‍ अन्य‍
जिीय‍िेत्रों‍म़ें‍वर्सक्जवत‍ककये‍जािे‍से‍ये‍पदार्व‍जि‍
के‍प्राकृनतक‍र्‍र्ास्तवर्क‍रूप‍को‍िष्ट‍करकर‍उसे‍
प्रदवूषत‍कर‍देते‍हैं, क्जसका‍मिुष्य‍तर्ा‍अन्य‍जीर्ों‍
पर‍घटक‍प्रिार्‍पड़ता‍है‍l 
117. Ans. D.  
िारत‍म़ें‍दलित‍जानतयों‍म़ें‍अिुसूर्चत‍जानतयां‍और‍
जिजानतयााँ‍आती‍हैं‍l इि‍दोिों‍जानतयों‍की‍क्स्र्नत‍
म़ें‍पयावप्त‍अंतर‍है‍ l जहााँ‍तक‍अिुसूर्चत‍जानतयों‍
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का‍सम्बन्र्‍है‍र्े‍सम्पूणव‍देश‍म़ें‍फैिी‍हुई‍हैं‍और‍
समाज‍के‍अन्य‍र्गों‍के‍बीच‍रहती‍हैं‍l 
118. Ans. C.  
सम्पूणव‍ देश‍ के‍ सिी‍ सार्िों‍ र्‍ शक्‍तयों‍ द्र्ारा‍
निक्श्चत‍अर्र्र्‍के‍िीतर‍निर्ावररत‍िक्ष्यों‍र्‍उद्देश्यों‍
की‍पूनतव‍करिा‍ही‍नियोजि‍कहिाता‍है‍l नियोक्जत‍
अर्वव्यर्स्र्ा‍के‍द्र्ारा‍ देश‍का‍इस‍प्रकार‍समुर्चत‍
आर्र्वक‍वर्कास‍ककया‍जाता‍है, क्जससे‍उसका‍िाि‍
सम्पूणव‍देश‍को‍प्राप्त‍हो‍सके‍l 
119. Ans. E.  
हमारी‍साहहक्त्यक‍परम्परा‍बहुत‍प्राचीि‍और‍समदृ्र्‍
है‍ l िारत‍ िे‍ वर्श्र्‍ को‍ महाि‍ साहहक्त्यक‍ और‍
सार्विौलमक‍मलू्य‍की‍कृनतयााँ‍दी‍हैं‍l हमारे‍साहहत्य‍
म़ें‍हमारे‍देश‍की‍वर्लिन्ि‍िाषाओँ‍और‍बोलियों‍का‍
लिखित‍और‍मौखिक‍साहहत्य‍सक्म्मलित‍है‍l हमारा‍
प्राचीि‍साहहत्य‍संस्कृत, पािी‍प्राकृत, अपभ्रंश, तलमि‍
और‍फारसी‍इत्याहद‍िाषाओँ‍म़ें‍है‍l 

120. Ans. C.  
र‍र्‍य‍ि 
ि‍कोई‍साम्राज्य‍ककसी‍अर्र्नियम‍के‍बिािे‍से‍बिता‍
है‍और‍ि‍ही‍ ककसी‍दसूरे‍अर्र्नियम‍से‍एक‍बिा‍
हुआ‍ साम्राज्य‍ उिड़‍ सकता‍ है‍ l बिहटश‍ साम्राज्य‍
िारत‍ म़ें‍ ककसी‍ अर्र्नियम‍ से‍ िहीं‍ र्रि‍ बिहटश‍
शस्त्रों‍और‍ बिहटश‍ कूटिीनत‍की‍ वर्जय‍ के‍ कारण‍
स्र्ावपत‍हुआ‍र्ा‍और‍र्ैसे‍ही‍िारतीय‍जिता‍के‍िंबे‍
और‍सफि‍स्र्ातंत्र्य‍युद्र्‍के‍कारण‍उसका‍अंत‍हुआ‍
l 
121. Ans. C.  
हदए‍ गए‍ वर्कल्प‍ (3) म़ें‍ ‘रूपये’‍ शब्द‍ का‍ प्रयोग‍
अिार्श्यक‍है।‍अत:‍इसका‍प्रयोग‍यहां‍उर्चत‍िहीं‍
है।‍ अत:‍ शुद्र्‍ र्ा‍य‍ नतरूपनत‍ देर्स्र्ािम‍् के‍
अर्र्काररयों‍िे‍सूर्चत‍ककया‍है‍कक‍दशविार्र्वयों‍िे‍

कई‍करोड़‍के‍हीरे, सोिे‍और‍चांदी‍के‍जेर्रात‍मंहदर‍
म़ें‍चढाए‍रे्। 
122. Ans. A.  
हदए‍गए‍वर्कल्प‍(1) म़ें‍‘वर्द्यार्ी’‍शब्द‍अिार्श्यक‍
है।‍र्हााँ‍पर‍उसका‍प्रयोग‍गित‍है।‍अत:‍शुद्र्‍र्ा‍य‍
होगा-‍स्कूिों‍म़ें‍संसार्िों‍की‍कमी, लशिा‍के‍प्रनत‍
माता-वपता‍की‍उदासीिता‍पाठ्यक्रम‍के‍स्तर‍आहद‍
के‍बारे‍म़ें‍सोच-सोच‍कर‍बड़ी‍निराशा‍होती‍है। 
123. Ans. D.  

हदए‍ गए‍ र्ा‍यांश‍ म़ें‍ वर्कल्प‍ (4) म़ें‍ ‘सूइया’‍ की‍
र्तविी‍की‍गित‍है।‍अत:‍सही‍र्तविी‍होगा-‍सुईयााँ। 
124. Ans. E.  
हदए‍गए‍र्ा‍यांश‍म़ें‍ककसी‍प्रकार‍की‍त्रुहट‍िहीं‍पायी‍
गइव।‍अत:‍वर्कल्प‍(5) इसका‍सही‍उत्तर‍होगा। 
125. Ans. B.  
हदए‍गए‍वर्कल्पों‍म़ें‍वर्कल्प‍B म़ें‍‘मि’‍के‍स्र्ाि‍
पर‍‘कत्तवव्य’‍उर्चत‍शब्द‍होगा‍जो‍र्ा‍य‍को‍अर्वपूणव‍
बिाता‍है, ‍योंकक‍यहां‍िागररक‍के‍अर्र्कारों‍और‍

कत्तवव्यों‍ के‍ द्र्ारा‍ ही‍समाज‍म़ें‍ पररर्तवि‍तेजी‍से‍
िाया‍जा‍सकता‍है। 
126. Ans. C.  
जो‍जाििे‍ योग्य‍ हो‍ उस‍ेज्ञातव्य‍कहा‍जाता‍ है‍ l 
उदाहरण-ईश्र्र‍सहदय‍व्यक्‍तयों‍के‍लिए‍ज्ञातव्य‍है‍
l 
अन्य‍ शब्दों‍ के‍ अर्व‍ -  
ज्ञाि‍ - बोर्, जाििा, जािकारी 
जातक‍- िर्जात‍लशशु 
127. Ans. C.  
आँखों में गिरिा मुहावरे का अथष है सम्माि रहहत 
होिा l 

उर्दाहरण –चोरी पकडे जािे के बार्द शीला सबकी आँखों 
से गिर िई l 
128. Ans. B.  
कलेजा छलिी होिा मुहावरे का अथष है हर्दल बहुत 
र्दखुी होिा l 
उर्दाहरण –अपिी बहि द्वारा ऐसी बातें सुिकर उसका 
कलेजा छलिी हो िया l 
129. Ans. B.  
हदए‍गए‍वर्कल्पों‍म़ें‍वर्कल्प‍(b) ‘बहूमुल्य’‍का‍र्तविी‍
गित‍ है।‍ अत:‍ शुद्र्‍ र्तविी‍ होगा-‍ ‘बहुमूल्य’है‍ । 
बहुमूल्य‍शब्द‍का‍अर्व‍होता‍है‍अर्र्क‍मूल्यर्ाि । 
130. Ans. E.  
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हदए‍गए‍वर्कल्पों‍म़ें‍‘हहिोर’‍िहर‍का‍समािार्ी‍
शब्द‍है‍जबकक‍अन्य‍शब्द‍‘मजाक’‍के‍समािार्ी‍
शब्द‍है।‍अत:‍वर्कल्प‍(E) इि‍सिी‍वर्कल्पों‍स‍े

लिन्ि‍है।‍(हहिोर, िहरी, तरंग, उलमव, ये‍सिी‍
‘िहर’‍के‍समािार्ी‍शब्द‍है।) 
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